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TEST VI é12™ PHYSICS & CHEMISTRY

Wolframite ore is separated from tinstone by the process of

a. Smelting b. Calcination

c. Roasting d. Electromagnetic separation

e. Answer not known

o soliyemiol. (Wolframite) grgieneu Geusitefwsssvedsd (tinstone) Bmbal LINHEHHHED
CRS

a. 2 (hdHGHDH6eV b. snBpleveond @pedled aImIGHHE0

C. UBIGHH0 d. Besmpbsi WMy

e. alewL G flwealsbenso

Which of the following reduction is not thermodynamically feasible?

a. Cro03 + 2A1 —> ADOs + 2Cr b. Al,O3 + 2Cr —> Cr203 + 2Al
c. 3TiO2 + 4A1 —> ALOs + 3Ti d. None of these

e. Answer not known

Lelteu(menteummiein sielaflenen Oeulil Buibsalwledey FTHEHT ailenerilsoen?
a. Cro03 +2A1 ——> AlO3 + 2Cr b. ALOz+ 2Cr —— Cr20Os3 + 2Al
c. 3TiOy +4A1 —— ADOs + 3Ti d. @meu erEIaOe0Em6D

e. alemL G flwalsenso

The aqueous solutions of Sodium formate, anilinium chloride and potassium
cyanide are respectively
a. Acidic, acidic, base b. Basic, acidic, basic c. Basic, neutral, basic

d. None of these e. Answer not known

Gamouib ..umTGwL, oieledellwid @&Gemmeny® BEID QU LTfwd Fuwemei® Sk uleumnler
BT SMIFe0H6T (LPeBEWL

a. oufevd, ouflevld, &My b. &My, oIfevd, &TyLD C. &ML, HHBEm6e, HTJLD

d. @aumpied gaidevenev e. alewL Gafuwealsvemnsv

Antiseptics and disinfectants either kill or prevent growth of microorganisms.
Identify which of the following statement is not true.

Dilute solutions of boric acid and hydrogen peroxide are strong antiseptics.
Disinfectants harm the living tissues.

A 0.2% solution of phenol is an antiseptic while 1% solution acts as a disinfectant.
Chlorine and iodine are used as strong disinfectants.

Answer not known

oo oe
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Yo SHBLILTTE6T  1oBmIb  SlmbTHelser Hewanuifsamend TS @M  DI6V60SHI
SlumBplen auenTFSenw &L BUUGSHHIF BT LlaTaubd FBBIseied 61&h SHeumreig)?

a. prHe Gurfed oublevd LBBID asl Jme CuUITdmFh SHwe  auedemd  LGbHSD
LenJ SHBULITETISNTGLD.

SmUpTdeiser o ulmeTen GCFe0HmeT LTSS ei3e6T.

Uemmedenr 0.2% semyged b UISHBLILTE, opemed 1% smyged @ Smuiprdled.
@Genmmflesr o@D oIBwmgeT  opFwiemer  auedewd WSS  H(HUBTF lHenTS
LWL &) 63TN3 60T.

e. alowL Gafweilsdenso

oo

5. Nylon is an example of

a. Polyamide b. Polythene c. Polyester

d. Poly saccharide e. Answer not known

EMHEVTE 6ITLILHI 6THBES IBHAHHSTL(B?

a. uredsemw® b. ured & gSei C. umell eTeroLiT
d. uredgTssemI®H e. alenL Gafwealsvenso

6. Assertion: 2-methyl-1,3-butadiene is the monomer of natural rubber

Reason: Natural rubber is formed through anionic addition polymerisation.

a. If both assertion and reason are true and reason is the correct explanation of
assertion.

b. If both assertion and reason are true but reason is not the correct explanation of
assertion

c. Assertion is true but reason is false.

d. Both assertion and reason are false.

e. Answer not known

BB Qubmnd @TUIUfel @BeNBLLLY PpeodHdanl 2-Codgled, 1,3 Lluyl L menL uer

sMyeild : @uwiBend @IUugTerg edHgwed GaTiy usoUQUITSS6I6T (LPUD 2 (HeUTSIBESI.

a. &Bm BB STyewid  G@ewiG  Ff, Guwed SHTIEWID, FnBmISETET  FiflWITes
6B BLOTGLD.

b. &Bm wBHD Sryewid S g, I  HTIEWID, dmBEIBETET  FHUIT6T
a6 80606V

Cc. ampp gl SEIMed SHTFewID Heuml

d. sBp wBpID STyeEd @reviBlh Heumsl

e. almL G flwailsenso

7. Match the following:

A. Atom 1. Isotope

B. C-14 2. Protons and Neutrons

C. Outer shell Electrons 3. Neutral

D. Mass number 4. Nitrogen

E. Trivalent 5. Valency
A B C D E

a 3 1 5 2 4

b. 1 2 3 4 5

C. 5 4 3 2 1

d 2 3 1 4 5

e. Answer not known
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QUTHSHSHIH:

A. ol 1. qBamG@Lrmiiy
B.C-14 2. UGymLmedr oM@ BluyL [Fmest
C. Gouall ouBBEL LI L 6T6VHLITET 3. LOGTIHMOWBBSI
D. plens ereuwr 4. WL 60
E. cpalener gHmedt 5. BementSHHmeir
A B C D E
a. 3 1 5 2 4
b. 1 2 3 4 5
C. 5 4 3 2 1
d. 2 3 1 4 5
e. alenL Oz flwalsvemnso
8. Match the following:
A. Element 1. Settles down on standing
B. Compound 2. Impure substance
C. Colloid 3. Made up of molecules
D. Suspension 4. Pure substance
E. Mixture 5. Made up of atoms
A B C D E
a 5 4 1 3 P
b 4 2 1 5 3
C 4 2 1 3 5
d. 5 4 3 1 2
e. Answer not known
QUT(HSBHIS:
A. seiob 1. 9IMFWIMDED meUbGHIBUTSI S LIgdHBa
B. Gsirow 2. gruienowmp Cummeit
C. bbb 3. (PEVSHFnDBIHETEL 2 (HEUTEISH)
D. Qsmmised 4. gnuienowimen GUIT(HeIT
E. sevemeu 5. OIEMIHHENMTL 2 (HEUTEISH]
A B C D E
a. 5 4 1 3 2
b. 4 2 1 5 3
C. 4 2 1 3 5
d. 5 4 3 1 2
e. alewL G flwailsenso

9.  Alcohol can be separated from water by

a. Centrifugation b. Fractional distillation c. Distillation

d. Solvent extraction e. Answer not known

Bilel®ha wevsanTed LUNSC5BSEG0 Wes

a. emww 6flevdaed b. Ueiterds smuiFH euigdhgHe0 C. BMWIFS algHsHe0

d. seoyiumer a1y @Bdseve. ol GFflwalsvensv
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10. How many pairs are correctly matched?

Mixtures Method of Separation

I. Solid and solid - Centrifugation

II. Insoluble solid and liquid - Sublimation

III. Two immiscible liquids - Fractional distillation

IV. Two miscible liquids - Separating funnel

a. 1 pair b. 2 pairs c. 3 pairs
d. All pairs e. Answer not known

IS men @emenissel Fflwms GUTHbHSUeTerner?

SH6VEN6EUSHGIT Uf50sBsGW (Wem

[. Hewiod BXID  &5ewwTiold - Wl &608HH60

II. sewgwng HLUGLUMHET BBILD HFeUd - LSHHBIGLOTHE0

III. gemres Hevaurdh HFeunhime - Uelieoid  STUIEFS 619 & 360
IV. s605@ID LewiLeTen SHFeumidber - Ifyeored

a. 1 Senewr b. 2 Bemewisein C. 3 Benewisei
d. gmaibg Bmeusebd €. ol Gapfwualsianso

11.  Which one of the following statements is not correct?
a. Atomic number = Number of protons = Number of electron
b. Mass number = Number of protons + Number of neutrons
c. Number of neutrons = Mass number - Atomic number
d. None of the above
e. Answer not known
Lelleu(bld SnBBIBHeTed 6hs el HeUBTeTHI?
a. olgm)l 616wl = LGITL L TGIH6I6IT 6TenTenilhend = 6160BL_JT6IH6I6T 616001601 dh6m D
b. Hlewm eremt = LGTTL LeiibeNel clewianidbemnd + Bluyl Treisenes elewTenlshemas
C. pwlgreiseier eewicnldbend = HleNB 616Nl - Sl 6T6uT

d.

GoBEemiL 61516 LO6VEM6V

e. alewL G flwalsenso

12.  Which of the following statements are correct?

1. Isotopes are atoms of the same element, which have same atomic number but
different mass number

2. Isotones are the are atoms of the different element with same mass number but
different atomic number.

3. Isobars are the different elements having same number of neutron but different
atomic number and mass number.

a.1and 2 only b. 2 and 3 only c.1only

d. all the above e. Answer not known

Letteu(hld 6Thd SmBmIbel Ffluimerene?

1.

2.

3.

a.

d.

4 | Page

@8y ol etewl WBMID GeusiGoaum Hewm eTewIBMeND OCF HANDSHH T DTS H6N
@@Ll el ILIBLD.

@8y meom eremwieemiu|d, OouaiGoum Slgm  eTewImEIULD  OBTewIL  GleusGaum
FHANSHHeT SlgmidbHer CaFmELmTe erarILIBLD

@Gy eremTenldbmauied HULL JTEISHMETUD SLeTTe OleuaiGouml Sigwl 616w LOBBID Hlens
otewt GamemiL. GeuaiBGoum HeaNodHH e DiemibdHen GFTumT eTelILBLD.

1 wBmib 2 1wl Bb b. 2 wBpb 3 W G Cc. 1 o (Bb

CuoBaamiL. eSS e alomL 0 flwealsdenev

044-24339436, 42867555, 9840226187



13.  According to modern periodic law, the chemical and physical properties of elements
are the periodic functions of their
a. Atomic mass b. Valence electron c. Mass number

d. Atomic number e. Answer not known

poler SeuTHHer alduiley, selomselsr Subiiued BB Caugululed UewTLE6IT
SHNOMIBEMGIT 61HME DIQUILIHL WITHS OlBT6mIL

a. Sigml Hens b. @enemdmest 1601 FTest C. [Hlewm eT6wr

d. o erew e. alewL Gafuwalsdenso

14.  Which of the following statements are not correct?

Hydrogen can lose its only electron to from a hydrogen ion (H*) like alkali
metals.

2. It can also gain one electron to form the hydride ion (H-) like halogens.

3. Alkali metals are solids while hydrogen is a gas

a.only 1 and 2 b. only 2 and 3 c. none of the above

d. all the above e. Answer not known

LeeuU(bLD 6ThdH FnBEBIGH6T HeUBT6Ten6?

1. omaslymer Hoigh @Cr eevdlJrenet @obheH &1 2 CGeorsmsements Gumeo GmbiTLlen
swelwrs (HY) wrpid seenn 2 el wig

2. B amrmaiser GuTe @b 6L JTeaIlIOUBD  manl mybGsents (H7) ompgibd
HETENLD 2_enLUIG.

3. &1y o Geuramsel Hewiwmser, 6% GCousmenulled mEBLIE6 6(hH 6T

a. 1 w@pid 2 G b. 2 wBmd 3 Wi G C. CuBseiL  61gle|0e0emev

d. CuBsatiL SaisaId e alomL  Gafuaisdemev

=

15.  Oxidation is

a. Removal of Hydrogen b. Removal of oxygen
c. Addition of hydrogen d. Gain of election

e. Answer not known

GHFCaBBLD TSI

a. ABL MM [HdbEHH60 b. edbHmen BoHEGH60
C. owaml rmamer GFTdhgHe0 d. eeudL grene emmeL
e. alewL Oaflwealsvenso

16.  Which among the following statements are correct?

1. According to Fajan’s rule when the size of cation is small and that of anion is
large, the bond is of more covalent character.

2. Greater the charge of the cation, greater will be the covalent character.

a.1only b. 2 only c. both 1 and 2

d. Neither 1 hor 2 e. Answer not known

Leiteu(bD 6ThdH FnBMIb6T gFfluimereneu?

CuggTeasTery allgluieLig,

1. GrTier owelulear o meueney FPlweTaad, aHTOGT Dwelulear o (Heerey
CuiwgTseayd G mLTe, Fallemenilil Hetend GLMILD.

2. Grprder oweluler Weagomw SFHafds SHsMNES  Fallomenilldh  HeTeno

SIFH B MG
a.1l w’@w b.2 w’ (G c.1 wspd 2 g
d. SyewiG Heum e. alewL GaMuialsdemev
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17.  Match the following:

Source Acid present
A. Apple 1. Hydrochloric acid
B. Vinegar 2. Malic acid
C. Ant 3. Acetic acid
D. Stomach juice 4. Formic acid
A B C D
a. 2 3 4 1
b. 2 4 3 1
C. 3 2 1 4
d 4 2 3 1
e. Answer not known
CUITHSHSI:
CLPGLIRIH6IT SILOGVMBIGHGIT
A. syfer . owamL CymgGenmilss oiflevld

1
B. alefiasit 2. wTeds HdlevLd
C. emmiby 3. 9FlLd SIbeOd
D. auuiBpled agsH@bd Sidevd 4. umtmdsd Siblevld

A B C D
a. 2 3 4 1
b. 2 4 3 1
C. 3 2 1 4
d. 4 2 3 1
e. alewL Gaflwelsvenso

18.  Consider the following
1. All acids essentially contain one or more hydrogen
2. But all the hydrogen containing substances are not acids.
a. Statement one is correct, statement two is wrong
b. Statement one is wrong, statement two is correct
c. Both the Statement are correct
d. Both the Statement are wrong
e. Answer not known
LeiTeu(hlD SnBmIsemeT HU1H
1. a5 SINVRGBEDHD Q&M DIVVH DSHBE& CBULL MABL TN SIEDIsSHmerd

OT6wTL 6m6).
2. SLEITEL MABL TR 2 66T DIMTHHIIOLTHETHEHLD DILOGVRIHET HI6V6V.
a. &pm 1 gf, saBm 2 Heuml b. &Bw 1 sam, FmBm 2 &
C. Brewi(h FmBmIBEHD g d. @rewihp FmBmIBEHD Hauy
e. alewL G flwailsenso

19.  Aquaregia is the mixture of
a. 3 part HCI + 1 part HNO3 b. 1 part HCl + 3 part HNO3
c. 3 Part HCl + 1 Part H2SO4 d. 1 part HCI + 3 part H2SO4
e. Answer not known
TTSHTeUSHH 6 HEVDE! 6160TLIGI.
a.3 umie HCl+1 umg HNO3 b.1 ume HCl+3 umg HNO3
c.3 umg HClI+1 umig H2SO4 d.1 umg HCl+3 umig H2SO4
e. alewL G flwailsvenso
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20.

21.

22.

23.

24.

25.

Which one of the following is weak acid?

a. HCl b. CH;COOH c. HNO3

d. H2SO4 e. Answer not known

LesTeu(meuaieuBmIeT 1% aUedlenGHmBHS DILOl6VD?

a. HCl b. CH3;COOH c. HNO;s

d. H2SO4 e. alewL Gapfwalsdenso

H>POysis

a. Monobasic acid b. Dibasic acid c. Tribasic acid
d. None of the above e. Answer not known

HoPO4 eiasuig

a. @BmBdH HMIHHI DOV b. @mamHse DD

C. (PMSHTTHBHIO SHILO6VLD d. GuBsemi  e&ale0me0

e. alenL Oz flwalsvemnso

Property by which an element can exist in more than one form.

a. Allotrophy b. Isomerism c. Isomers

d. Catenation e. Answer not known

QMH SN QaBId@ GuBULlL algakiseilsd EHbGHLD HeTeno

a. ymGeummiento b. wrmbswid C. LIBBIWIBISET

d. smdalsdh Oamgrédsnd e el OFfuielsdemev

Structural formula of ethyne is

[ ?H b, H§C=dﬁ

a.H—YZ—C
H ~H H .~ H
ccH-C=C-H d.Hs-C=C-H

e. Answer not known
FHEDSHNT (LPeVHInMl  DIENLOLIL

H H H Cﬂ
a.H-C-C-H b, \C=

H N H H B
cH-C=C-H d.H;-C=C-H

e. alewL G flwailsenso

Indigo is an example of

a. Acid dyes b. Basic dyes c. Indirect dyes

d. Vat dyes e. Answer not known

Bew1gBsm TG &1 2 HTJeuILD

a. Sflev&Famuibd b. sryFemwibd C. LMBPHF FIUILD
d. GsmgFFmuid e. alewL GafNuwaledenso

The mass percentage of carbon in methane

a.75% b. 60% c. 90% d. 25% e. Answer not known
B5HBHale0 o 6iTen HTTLNT Hlenp FHals Senuil
a.75% b. 60% c. 90% d. 25% e. alewL Gafwalsdenso
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26. How many molecules are present in 1g of Hydrogen

a. 6.023 x 10%
d. 2.511 x 10%

b. 3.0115 x 1023
e. Answer not known

QRH FIMD mamL FMefled 2 66T (LPeVHIBIH6IT60T  6T6mTemnT &N D

a. 6.023 x 10%
d. 2.511 x 10%

b. 3.0115 x 1023
e. alewL Gzflualsdenso

27.  Bond in the compound of NaH

a. Ionic bond
c. Hydrogen bond
e. Answer not known

b. Covalent bond

d. 50% Ionic bond, 50% covalent bond

NaH eteti3 @Fimiod  GmmIeen  LiemewriiL]

a. owel LNeneworliL
C. L Jeeir LienemrLiL]
e. alewL G flwealsbenso

28.  Match the following

Metal
A. Aluminium
B. Iron
C. Manganese
D. Lead

A B C
a. 1 2 4
b. 7 1 4
C. 2 1 3
d. 1 2 3
e. Answer not known
CUT(HS HIB:

o Beumasld
A. sideiuib
B. 8wy
C. wrhisets
D. snfwwb

A B C
a. 1 2 4
b. 2 1 4
C. 2 1 3
d. 1 2 3
e. alewL O fluwailsenso

b. Fai1 ewewiiiy

d.50 % swel Wemewiiiy, 50% salilenewiti]

Chief ore

1. Hematite
2. Bauxite

3. Galena

4. Pyrolusite

B W W g

PSHETEDID  HTS)
1. GCamwenL -

2. UTSHmFL

3. &eSerm

4. epuUGITeTenaL

Bk W W g

29.  Which of the following statements are correct?
1. Atomic radius decrease along the period from left to right.
2. Election affinity decrease down the group.

a. Only 1 is correct
c. Both 1, 2 are correct
e. Answer not known

8 | Page

b. Only 2 is correct
d. Both 1, 2 are incorrect
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LeiTeu(pld 6ThHd FnBmIBeT gFfluimereneu?

. o b OHTLMed @ O(HHSH UeLTH GMBH MBS

2. eleudLgmed BHTLLID QHTGHUNeL Cel(hhaHl HOTE GBS BSHI
a.1l w' @ af b. 2 w @b &M

c. 1,2, e Qyewipo & d. 1,2 s QIewiG Heum
e. alenL Oz flwalsvenso

30.  The concentration process of Hematite
a. Magnetic Separation b. Froth flotation process
c. Electro plating d. All the above
e. Answer not known
GamioenL I $HTH SILTINSGD (Lpevs
a. smhaUfiiy (e b. mie»IOSIL (1penms
C. OGI(IPGVTID 1L&i&H60 d. GuBseai. imeaisHaIb
e. alewL Gaflwealsvenso

31.  Match the following;:

Chemical Name Molecular Formula

A. Blue Vitriol 1. ZnSO4.7H,0

B. Green Vitriol 2. MgSO4.7H,O

C. White Vitriol 3. CuSO4. 5 H0O

D. Epsum Salt 4. FeSO4.7H20
A B C D

a. 4 3 2 1

b. 4 3 1 2

C. 3 4 1 2

d. 3 4 2 1

e. Answer not known

CUIT(HSHSIS:

Gougiuiwed GuwiT (P6VHFB  eUTWILILIT(H

A. Beo &il Muimed 1. ZnSO4+.7H20

B. usems el fuwmed 2. MgS04.7HO

C. Geusitewer el Muwimed 3. CuSOs4. 5HO

D. eigib o 1y 4. FeSO4.7H>0
A B C D

a. 4 3 2 1

b. 4 3 1 2

C. 3 4 1 2

d. 3 4 2 1

e. alewL O flwelsvenso

32.  Which one of the following formula is correct?
Mass of the solvent

a. Solubility = %1000
Mass of the solute

Mass of the solvent y
Mass of the solute

100

b. Solubility =
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33.

34.

35.

36.

Mass of the solute y

Mass of the solvent
Mass of the solute 8
Mass of the solvent

e. Answer not known
Ueteu(pd 6ThdH &FLoerun® grfluimerg?
SEJLILITed6T [Hlewm

c. Solubility =

d. Solubility = 000

%1000

a. Hem Q1 =
T8 sJoLm(mHefedr Blenm

SemJLI LITeedr Hlenm <100

b. sdper =
7B SmJOLT(HeMet Hlenm

ST OLIMHeMedr Hlenm <100

C. H6m &1 =
s SEJLI LITedN6oT [Hlenm

SmJOLT(Hefen Blenm

d. seoydper = %1000

SHeJLI LITeTedr [Hlemm
e. alewL G flwealsdenso

Cyclobutane is an example of compounds

a. Acyclic b. Cyclic c. Aromatic

d. Alicyclic e. Answer not known

auemerl Luyl GL T 6TaiTLIG) @girioid

a. GUEGITULILDMM b. euemernui c. oBymGwL 198
d. spdmgseids e. ol Oxpfuwaledensv

Identify the Ketone among the following;:
a. CH;COCH;3 b. CH;CHO c. CH;COOH

d. CHsCOOCHz3 e. Answer not known

Ledteu(meueteuBmIen &L GLTenen IeNLUITETLD  &HT6uT.

a. CHsCOCH;3 b. CH;CHO c. CH;COOH
d. CH3COOCHj3 e. alewL Gafualsvemnso

When ethanol reacts with acidified K2Cr2O7 the orange color of K>Cr2Oy to.
a. Yellow b. Red c. Purple

d. Green e. Answer not known

il KoCr2O7 o L et a1dsemed alenenfibgh HHD BB

a. LDEhaFeir b. deuriy C. oagHT

d. uFemns e. alewL GaMuwelsvemev

Which of the following statements are correct?
1. Ordinary soaps when treated with hard water, precipitate a salts of Ca?* and

Mg?*.
2. They appear at the surface of the cloth as sticky grey scum.
a. Only 1 is correct b. Only 2 is correct c. Both 1, 2, are correct

d. Both 1, 2 are incorrect e. Answer not known

Wetteu(pld Fnpmisbelled Fflwimetensy eTeneu?

l. smpmenm Gsmiy sger  poLer  eleeryfluwGurg  Ca?t, Mg swelser
QilpUIgITSHBS

2. gewisefler Gomurliied FmbLed BB O&LD LIgenal 2 (HeuTshGLb.
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a.1l w' @ &f b.2 w G &M c.1,2 rewipn &
d. 1,2 @yewiBd Heuml e. alewL GaMuwealsvemev

37.  Aluminothermic process is used for the extraction of metals, whose oxides are
a. Fusible b. Not easily reduced by carbon
c. Not easily reduced by Oxygen d. strongly basic
e. Answer not known
2 Booras o bmeavpsemen LINH050H5 SIbGamm  Oeulil  @BHBIPHMB
UWSTUBSSLILBGH DS
a. 2 _(Hh&HSmIgUl
b. @nitue cpeold elaM&ed GBHBOMLUITS
C. SHFMem cpeuld 616N FH60 BHSHBLOMLWITS
d. 9 sMmHHE0 OBTEIIL
e. alewL Oz flwealsbenso

38.  The electrolyte used in electro refining of silver is
a. Acidified aqueous solution of AgNO3
b. Acidified aqueous solution of AgxS
c. Acidified aqueous solution of AgCl
d. Alkaline aqueous solution of AgNOs
e. Answer not known
Geueitellufedr WeTNTH  SITUIMOWITSESI60 LWSILGSSLILBLD LOeTLIGeTd HengFed
a. AgNO; §ar oilev BiTdbBHmIF60 b. Ag:S @61 suflev Birdbsmyasd
c. AgClgeit siflev BrésEmygsd d. AgNOs et &1y Brdbsmyaed
e. alewL Gaflwealebenso

39.  Which of the following statement/s are considered limitations of Mendeleev’s
periodic table?

L. Elements with large difference in properties were included in the same
group.

II. No place for isotopes in the periodic table

III. ~ The increasing order of atomic mass was not strictly followed throughout

a. I only b. I and II only c. None of the above

d. All the above e. Answer not known

Heteupld  gnpmiseied  oig  /  elemen  GoewieSel  Hafio  auflend o1 L auenemiuiles

GmBUTHSHNTHS SHHBSLUILGHBSHI?

L. ueniLseiled oIHd CoupiumGeiten Heliomisepd @Cr CHTGHH UL eubSBLILIL L 6.

IL. oBamBLMILSBEHHEG HalWTs LD @HIHHIULaT606me0

III. lgdh OETemiBL Ol Slgm Heop b  alHemws  Fev  Cousmenseried
SOLLINIYSHS (LPI9UIaTe0em6v.

a. I @ b. T wmgw I w’ G C. GuBBMIL gD Be0en6v

d. CuBsaii. SmardhsHd e el Osfuiaisdmed

40.  Consider the following
Assertion (A): Rare gases are monoatomic and they do not react with other
substances easily
Reason (R) :Rare gases have completely filled subshells
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a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A)isincorrect but (R) is correct

d. (A)and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LeTeu(hHeueaTeUBens LU Ik:

amm (A) o oflu amusseT  @ramis  HRNOEIGET  DBEID  Dewed  LDBM
QUT(HLBEHL T Dieileueney eTaMdled allewent Lifleudse0emev.

srgewid (R): oiflw seurwdset (ppeugid BILLOLLL SHienenidbanBsemend CETeawmIBeiere.
a. (A)wiew sf (R) saum

b. (A) wspw (R) Grewibw &M Gweid (R), (A) el sflwmer elendsworEd

c. (A) seum (R) wi@n &

d. (A) wppw (R) @yemew sf semed (R), (A) albe gfwrer alerdasisso

e. alowL Gafweiledenso

41.  Infourth electron shell (N), the maximum number of electrons in each of s, p, d and
f subshells are respectively,
a.0,2,4,8 b.0,2,6,8 c. 2,4,10,16
d.2, 6,10, 14 e. Answer not known
BTEISTeUS! 6T60BLITE dnllged (N), (eupBu s, p, d wBBID f Hiwewisambaeisd o 6o
6TELHL_JTEIISH6MET DISHBLILF  6T6516001H6ND

a.0,2,4,8 b.0,2,6,8 c. 2,4,10,16
d.2,6,10,14 e. alewL OzfNwalsdensw
42.  Which of the following statements about alloys is / are incorrect?

L. Alloys do not get corroded (or) get corroded to very less extent

I1. Alloys have more conductance than pure metals

III. ~ Alloys are harder and stronger than pure metals

IV.  Alloys have higher melting point than pure metals

a.Iand II only b. II, IIl and IV only c. Il and IV only

d. All the above e. Answer not known

o Boumad Hevedal UMM LSTaIHD FaBmiseled 6ig / 6lenel Heummeig?

L. o Beurapds sevemal alengaled SHIHULTQLLSID, HINSHHIT CuTeugbid Eevensv

II. o Courdpd Hevewau HMTW o CooTsHmS Il SHLSHHID SHETIMD HHGHD 2 DL ULIEN6.

III. o Courdpd Heveme HMTW 2 GeTHHMPHAIL  HYIOTHA|D  GUEIEHLOWITEISHTH6LD
8BS0

IV. o Geonssd sevmeuules o m@Hmer Hrul o GeonssHdlar o (hHamevenul ail
SIFHBLD

a.l wpmd II w @G b. IL, I wpmio IV wi @b c M opsn IV wf Go

d. CuBsei. SmardhgHid e el Oafuiaisvemnso

43.  Consider the following
Assertion (A) : Argon comes before potassium in the periodic table
Reason (R): The atomic mass of argon is greater than that of potassium
a. (A) alone is correct (R) is incorrect
b. (A) and (R) are correct and (R) is the correct explanation of (A)
c. (A)and (R) are incorrect
d. (A)and (R) are correct but (R) is not the correct explanation of (A)
e. Answer not known
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LNeTe(HEUGTBENB  DLU1H.

aBpl (A) : STHsear il Leauemenuied oiieet el QUTLLTAWSHBE (LpeiTemed
aflengILGSHSLIUL BTN,

smewd (R): oyisaisr oem Blop GUILLTAWLSHST Sigm Bopamw all iFsld

a. (A) wppw sf (R) seum

b. (A) wspw (R) Grewibw &M Gweid (R), (A) ealBg sflwmer alenssworEd

c. (A) wien (R) gyewhn seoum

d. (A) wppw (R) @yemew sf semed (R), (A) albe gfwrer alerdasisso

e. alwL G flwailsenso

44.  Consider the following
Assertion (A) : Atomic radius decreases along the period from left to right in
periodic table
Reason (R) :The number of proton increases along the period from left to right
a. (A) alone is correct (R) is incorrect
b. Both (A) and (R) correct and (R) is the correct explanation of (A)
c. Both (A)and (R) are incorrect
d. Both (A)and (R) are correct but (R) is not the correct explanation of (A)
e. Answer not known
LedTeu(hHeuaTauBens LIS,
ampm (A) . QITHHHT DI Laumenid OHTLMd L & LBSHHeIdhaE 66 I LBLOTS
CFe0emaUled g LT (GHDBBIBSI.
smyenid (R): GOzmefed L g UBSHSHeddhal 6uevd LBTs CFevamnsuled LGyl L meier
oTewIenlHem®d DIHBMHH 6lFe0eILD
a. (A) wiew &f (R) seum
b. (A) wspw (R) Srewiew sf Gweid (R) (A) elBg sflwumer efsnsswonELb.
(A) wppp (R) @yewn seum
(A) wBpd (R) gremew M eemed (R), (A) albeg sflwrer alendasosvsn
e. alowL Gafwealsenso

o n

45.  Which of the following statements is / are correct ?

L. Ionisation energy is also called as ionisation enthalpy.

II. Ionisation energy is measured in KJ / mol?

III.  Higher the ionisation energy, it is more difficult to remove the electron.
a. I and II only b. I and III only c. ], Tand III

d. None of the above e. Answer not known

Heteumld ampuiseiled Filwmeig eig / eteneu?

I SWENWTHSLD DBMBEL, DILSIWTESGD 6TeTHTe0LT TRIBID DIENLPSHBLILIHLD.

II. Swelwnés@d ybpedear oo K] /mol?

III. SWSNWLTHGD UBBeL HHBMAHGD CUTSHI, 6T60HELTT6T HHGHH BHIGEILOTHBSHI
a.l wmpid II i Gb b. 1 wmmo I wr G c. L IT wmpd III
d. Guoisemi agafevamen €. aleml  GaMuialevemed

46.  Electronegativity of Na and I are 1 and 2.5 respectively. The nature of the bond in

Nal is,
a. Ionic b. Covalent c. 50% Ionic and 50% Covalent
d. None of the above e. Answer not known
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Na wipid I Ser etevdbl Jrest seauismeend (wepGuw 1 wBmid 2.5 ou@ib. eaeisd Nal
B0 2 oitern LlemewilILlesr Heiremio,

a. SweiilenemriiL] b. gl NenemrriL]

c.50% ouweldhaearemn 50% Faiifenemiiilg Heento d. GuBsemi  agia|ls0emen

e. alenL Oz flwalsvenso

47. Henry Mosley bombarded elements with high energy electrons and studied the

characteristies of from them.

a. a- rays b. B - rays C.y- rays

d. x- rays e. Answer not known

amersl Gomerd@sv LIVBaMI HENORIBMET DHB HLBMEVIHL U 6T6VHL JTHIHM6NSH O\HTewI(H

GuraF CFUIsH SIHET (peOD o (Heumer FmliL BiBLoTeeUleneT  SLUlIe]

Qauigi.

a. - sF b. B - s C. Y-esg‘,]ﬁr

d. x- st e. alewL Gxpfwalsdenso

48.  Identify the incorrect statement/s.

L. Repetition of physical and chemical properties at regular intervals is called
periodicity

I1. The Aufbau principle provide a theoretical foundation for the modern
periodic table

III. ~ Each period starts with the element having general outer electronic
configuration ns” and ends with ns? np®

a. Iand II only b. I only c.I,ITand III

d. None of the above e. Answer not known

Leleu(bld SnBBIBaTed SHoUBTaImSHS &6l MlH:

L. gyner  QevL Geuelaelled HalomsseT SeuBpler QuiB  wHBBID  GeugliLemTL&eie0

RHH(BULSH HLeUTHSHT HETeNLD 6TRIBMLPSESLILIBGS MBS

II. OLUT  SSHFleUd  Balenr  Geloeuflend  SILLaumenid@ SHHH — algaieomer
SIQUILDLMWG  H(HBBSH.

I1I. @alGaur auflengud ‘Nsl’ e QuITEHIeUTeT Gouaidbgnl (B 6T60HL JT6T DIGHLOLILT N6
QB TeuTBeiTeN HeMLDHH60 BHleUBIH) ns> np® eI Qeueidanl B
6TV JTEIDIEMLOLILeneT CUBMIETEN HONDHHE0 (LPIg6UeDL BB

a.l wpmd II w G b. II w @b c. I, IT wpmup III

d. B asafevmen €. almL  Gafuialsvemev

49.  Identify the correct statements

L. Generally, The number of valence electrons remains the same for the
elements in same group of the periodic table

I1. Most of the elements of group 18 show two valences 3 and 5

a. I only b. II only c. BothIand II

d. Neither I nor II e. Answer not known

gflwmer gnBenmd HeuwrLplss.

L. QuTglauTes SLaITHHaT S Lamanulear om FHTGHuled o eienm  Hellomigeresr
BementHmett 61601 JTeiTSH6i6H  cTemTenldbems LoD

II. a1 1860 GUI(HLDUTEOTET HENOMIS6T 3 LOBBID 5 SSlul Eh Een6mTHBeIHm6NL
CumB 666D

a.l o' @ b. II o Bid c. ] wpp II

d. CuBampw egmaficoemso e. el GFflwealsvensv
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50.  Which of the following statements is / are correct ?

L. Separation of H* ion from HCL molecules cannot occur in the absence of
water

II. All acids essentially contain one (or) more hydrogens.

III.  Acids prepared from rocks and minerals are organic acids

a. Il only b. IT and III only c.land IT only

d. All the above e. Answer not known

Heiaupd ampupiseied 6igl / eleneu gfuimerened?

L. BT Aeveurs Gumrgd HClL oufevgsed o 6ten  enaml 7361  Sjweisamen  Lfldbas
(PIQUITEI.

IL. SMNHH  DIOVBIBEHD  PETW  DlLVVGH DSBS  GoBULL DL FE3e6N

SIeMIHHM6NDH OB 6m6ll
OI. urenpsem wBEBID  Sefwl  QUImBeTEeNeBHS OCUBLILGL DibleomseT &M
SILOleVRIBET  eTeTILIBLD.
a. Il w @G b. II w@pid I wr G c. | wmpd I w G
d. Gupamp Semansaid e el GFflwealsvensv

51.  Metal which does not react with sodium hydroxide is,

a.Zn b. Cr c. Al
d. All the metals react e. Answer not known

Gamouwid ewamL grdHamahLer aleverflung o Geursd

a.Zn b. Cr c. Al

d. simeisg 2 Baonsmisend alamenflun e. el Gsfluwalsiened

52.  Consider the following
Assertion (A) : Copper sulphate crystal is blue in colour
Reason (R): It has five molecules of water for each molecule of copper sulphate
a. (A) alone is correct (R) are incorrect
b. Both (A) and (R) are correct and (R) is the correct explanation of (A)
c. Both (A) and (R) are incorrect
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
e. Answer not known
LaTeu(heueiouBens SHUIsh
anBm (A) : &TIUT F60BUL LIYsLD [Hev HBLTS B(HeEGLD
snyenid (R) : o1gled @b smiuT 606Ul pevdbamBiBEg 28bdHl BT eI DBIEH6T 2 _6iTerer.
a. (A) wiew sf (R) seum
b. (A) wBpw (R) Gyewigw &M Gweid (R) (A) alBeg afwmer alendsomELd.
c. (A) vpmpw (R) @yewibo sHeum
d. (A) wspw (R) @yemiew sf eemsd (R), (A) alBe sfwrer alersasosdeo
e. alewL G flwailsenso

53.  Salt identification test where salt is mixed with concentrated HCL is,
a. Physical examination b. Dry heating test
c. Flame test d. None of the above

e. Answer not known
o lewu SewLwmend sramid  Cangmenseiled, o et ST ewasl Cym@Genmfle
SIflvHMmBH H6VbHFH OCFUIuD CFmgHemen
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a. ump CamHenen b. 2_euT Geulin GFmmemet
C. sLiT BangHement d. GoiaemiL  61&Ia|00m60
e. alenL Oz flwalsvenso

54.  Which of the following is not a factor that affects the solubility of a solute?

a. Density b. Nature of solute and solvent c. Temperature

d. Pressure e. Answer not known

LeTeu(heussTeuBmIe 618 HemJeUT(hHellar SenyHmenaid SHToTalbGD SHTyen 960607
a. 9ILTHF) b. seyQUTHelT WBBID SevyliLmelen Heaiend C. GeuliLbeney

d. o1pdHsid e. alewL GaMuwealsdemev

55.  Which of the following statements is/ are correct ?

L. Common salt is a non - polar compound and dissolves readily in non - polar
solvent like water

II. In endothermic process, solubility decreases with increase in temperature

III.  Higher amount of solute per given amount of solvent is said to be
‘concentrated solutin’

a. I and III only b. II only c. IIl only

d. All the above e. Answer not known

Heteumld  gmpuiseiied Filwimeig eig / eteneu?

L. gemowed o Ui (emeiayprd Gao eeiGeu BFH (peveTeyBrsd  SHenJLILITeTTSIL

pbifled ereMgled BmTHIMSI.

II. Geuliu@ame  GFwedupenpuied, Oeauliuplener OFFASGHL Curgd  Hewygme
SOBEBE!.

III. GEULILL  Slee] SmILILTRNND DIHS ieTe]| HMFOLTHeT 2 6iTengl GFmBleyss
SHMIF6L 6Tl FnBLLIGSMBSHI.

a. L wpmgo I o Gid b. II " @G c. III wi @Gw

d. GuBsampu SemarsHd e el Gafuiaisvemnsd

56.  The solubility of a gas in a liquid by pressure is given by,

a. Boyle’s law b. Henry’s law c. Charles law
d. Gay Lussac’s law e. Answer not known

FHreuddHev aumujale HmIHBaed DWDSHHHDHe almenenel alemdb@H(p il

a. uruied &g b. Gamand ald C. gieverd aig)
d. Cx-euamsd ald e. alewL Gafuwalsdenso

57.  Identify the hydrated salts from the following

I. Table salt II. Epsom salt I1I. Silica gel

IV. Blue vitriol V. Green Vitriol

a. L, IL, IIT only b. II and III only c. I, IV and V only

d. All the above e. Answer not known

Letteu(heusteuiplied HOIMiw o L semend SHewiL .

I. Goeng o I II. etiFd 2 (1 III. fledssT Giged

IV. pev el flwmed V. udens ol fuimed

a. L, IT wmgo I wr @b b. II w@pid I w1 Gid c. I IV wpgio V ol @b

d. CuBsmiL Smasaid e el GFflwealsvensv

16 | Page 044-24339436, 42867555, 9840226187



58.  Consider the following
Assertion (A) : Hygroscopic substances are used as drying agents
Reason (R) : Hygroscopic substances absorb enough water and get completely
dissolved
(A) is true (R) is false
Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are false
Both (A) and (R) are true but (R) is not the correct explalnation of (A)
e. Answer not known
LaTeu(heueiouBens SHuiIsh:
aBml (A): mjb 2 Plehaid GaTomS6eT 2 THSHID CUIHeNTE LLGTLIGSSLILIBES 36T,
smyenid (R) : myw o Plehad Camwmisst FIHms 2 MBlehd (PLRaUBID SHenyde amme.
a. (A) wiew sf (R) seum
b. (A) wspw (R) Grewibw &M Gweid (R) (A) alBg sflwmer alsndsworEL.
c. (A) wppd (R) Syewhn seum
d
e

an oe

. (A) vppid (R) grewiw gfl semmed (R), (A) alBg shwner alendasiosoen
. el Gafwelsvenso

59.  Match the following

A. Digestion of food 1. Decomposition
B. Burning of wood 2. Single displacement reaction
C. Acid + base 3. Exothermic oxidation
D. Zinc metal in HCL 4. Neutralilsation
A B C d
a. 2 1 4 3
b. 1 3 4 2
C. 2 3 4 1
d. 4 3 1 2
e. Answer not known

Ledteu(meuaieuBenme  QILIM(H&HSHIH:
A. o _ame OFfHHe0 1. dlengey alenenr
B. aimp@ emfiged 2. @menp @ LOUWTFS alener
C. oufleoib + &myid 3. Qauli o 10D SuEHFleyBaBmLd
D. HCl &0 s155m1HI0D 4. BEHB®OWITHSH60 6flenent
A B C d
a. 2 1 4 3
b. 1 3 4 2
C. 2 3 4 1
d. 4 3 1 2
e. alenL Oz flwailsvemnso

60. Identify the correct statements
L. All combustion reactions are oxidation
II. Combustion can also be called as exothermic oxidation
III.  If a flame is formed in a combustion reaction, it is called burning
a. Il only b. II and III only c. All the above
d. None of the above e. Answer not known
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gflwresd SMenms  SH6wrL5w:

L. DIMAHH! 6TMHe0 alenaidEhd D HmImGaiBB alenarsseT SLEGLD.

II. afldped alenemenws Goulil 2 1P SLoHSCammBBLD 6T6eTeVTLD

OI. efiged aleweruier GUTEH &FLT 2 (HEUTEITED, DIHMET HHSILD 6IGICOTLD.

a. Il @ b. II @ 1T 1o G c. GuBsmpiu SlemarsHaHID

d. CupsmpPlw egefisoemeo e. ol GFHflwealsvemnsv

61. Identify the correct statements

L. A catalyst is a substance which increases the reaction rate after being
consumed by the reactants

IL. Chemical equilibrium is a state of an irrversible reaction in which no change
in amount of the reactants and products take place.

I1I. In bottled aerated drinks, the dissolved CO. and gaseous CO. are in
equilibrium with each other

a.land II only b. IT and III only c. IIT only

d. All the above e. Answer not known

gilwmer gnBenmd 6wl ilH:

L. alemenysbd  eraiugm  alenadLGOUT(hEpLT  alleweruled FHULG,  ailemerules
Cousdhms DFHMEGLD.

IL. enmalenemuied ealemeubUTheT wBEID almaralmenr GUTHeTHaMET  Slenaled
LOTBBL  gMBULTDED 6L LB swbleneoBu Geugls gomlensv elelILIBLD.

III. STHBBLSBIULL  GefTuramiseied, sysasiu’ L CO2 eumujeyd, eumu] Hened
CO2 aumwyeyld RSTWIL 63T Q6T FLOHleWeLUTED 2 6iT6IT60r.

a. [ oppd 1T 10 Bib b. Il w@mnp I o Gid c. I w’ Bib

d. GuBampPlu SwaISHn e aloL CFfuwelsvemev

62. Odorant added for leak detection in LPG is,

a. Methyl mercaptan b. Ethyl mercapten c. Lipoic acid

d. Methionine e. Answer not known

LPG & sfleweusd semipiu LWSTUGSHSILBLD euTFemetl QT el

a. GgHHe0 OILDTHTLIQEHT b. e1&860 GLDTHMIQ6H C. allBuTUIS Sydlevld
d. QugHCuimefer e. alenL Gafwelsvenso

63. Identify the rightly matched pairs.

L. Hall’s process - Bauxite into alumina

I1. Baeyer’s process - Reduction of alumina

III.  Bessemerisation - Obtain blister copper

IV.  Electrolytic refining - Blister copper to pure copper

a. I and II only b. Il and IV only c. I, Il and IV only
d. All the above e. Answer not known

gflwre QUTHSSILULL BauSenend &6l sls:

L. QMBITEL  (LPen(m - UTSHmFL L. DIIOGTTOUTS  LOTHBBIH60

II. GuwiT (wewm — Sammea @hdHGh CFuigHe

I1I. CueeioITeGHe0 - Gamiiyend STiumyl CLBIgHeL

IV. LI GITGIMBLIGH & FH6L - Qamiyend STILMIS ST STUIUTTS LOTBH3ISHE0
a. lwsmib II w G b. III wBmido IV o Hio c. IL IIT ioipd IV ol Bib

d. CuBsatiL SaisaId e el GOsfuiaisdmed

18 | Page

044-24339436, 42867555, 9840226187



64. Identify the wrongly matched pair.
a. Oxide ore - Iron pyrite b. Carbonate ore - Marble
c. Halide ore - Rock salt d. Sulphide ore - Galena
e. Answer not known
SHUBTET Benerieniidh H6wIL M.
a. 9EmFh HTH - S(HDL enUmTL b. &rmuBen. sre — e
c. Camenev(p HTH — UTHB 2 LI d. FeoewuB FHTEH - BeSeurT
e. alemL Oz flwailsvenso

65.  Natural indicator of pH is

a. Red radish juice b. Termeric powder c. Lemon juice

d. Methyl orange e. Answer not known

Bupmas pH pipmist iy

a. dlaniy (weirenmid Fmy b, wehger C. alFemTF FTEl
d. Qusded Sueha e. alenL Gafwealsvemso

66. Consider the following
Assertion (A) : Organic compounds are less reactive when compared to inorganic
compounds
Reason (R) : Organic compounds have high molecular weight
a. (A) alone s true (R) is false
b. Both (A) and (R) are true and (R) is the correct explanation of (A)
c. (A)is false (R) is true
d. Both (A) and (R) are true but (R) is not the correct explalnation of (A)
e. Answer not known
LelTeu(mHeueTauBenm LIS
apml (A): &fio Camomsemen seailo CamomasCem® ULIGmaUlsd GempBeuTaGal alenet
L&l ermeor.
amyenidb (R) : &fiio CaomiseT IHd cpevdbamp Hevpenuld OEHTent([HelTere.
a. (A) wiew sf (R) seum
b. (A) wspw (R) Grewibw &M Gweid (R) (A) alBg sflwumer elsnssworEib.
c. (A) seaum (R) wi@n &
d. (A) wppw (R) @yemew af semed (R), (A) albe sfwrer alersasiosso
e. almL G flwailsenso

67.  Identify the uses of acetic acid.
I. Manufacture of plastic II. Printing on fabrics
III. Make vanilla extract IV. Sterilize wounds in hospitals
V. Coagulating rubber from latex
a.LIII, IV and V only b. L II, IIl and IV only
c. All the above d. I, Il and V only
e. Answer not known
DIFILIYS DIOVSHHET LILIGITHM6TDH H6wIL135H.
[. Opas swmhiiy
II. giwisaied oFs LHDHH6E0
III. Qeuewremfeond amm CFUIHeL
IV. umsHaianmearseied STULRISmend HenL $He0
V. @rium unenevd GaL1glILBSHSHIH60
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a. [, I, IV oimid Vo Bib b. I II, III wmmb IV o Gid
C. GUBHIL SEMATHHID d. L I wppido V' wr G
e. alenL Oz flwalsvenso

68.  Hard soaps are prepared by saponification of oils or fats with ,

a. Potassium salts b. Magnesium soda c. Calcium salts

d. Caustic soda e. Answer not known

GTeWIOIIILI Dl606VHI CBTLYLIL T ement o e Gamiundsed alemend@ o L LBHHSHID
Gurgl sger Gamiy HenL SHBG.

a. QumLrdlub o iy b. Guseatslwb o Iy C. smeodlwd o LI

d. efl Gamm e. alowL GaMuwealsvemev

69. Identify the weak bonds from the following

I. Vanderwaals interaction II. Coordinate covalent bond

III. Hydrogen bond IV. Metallic bond

a.I, Il and IV only b.Iand IV only c. I'and III only

d. All the above e. Answer not known

LedTeu(mHeueTeuBmIeT Lievaierome EeneniliL|bemend &6l ildb.

[. eumewiLiT eumeberd HauTFS alens II. o0 FalilenewrliL

[II. emaml yeges LiememriiL IV. 2 _Geurasll LienemiiiL]

a. ], Il wpgd IV wl @G b. [ wpmpo IV w G c. I wppd TII o @0

d. CuBsai. mardhsd e el Osfuialsdemso

70.  Ancient Tamil literature that mentions Sun is surrounded by planets

a. Pattinappalai b. Silapadhikaram c. Sirupanatruppadai

d. Purananooru e. Answer not known

Gflwenarll LI Cameisel @lbpbalenener eeiml GBIULILL LewenLSmevd SO Be0dHaILILD.
a. UL IQeTLILITeneD b. Fevriugsmyid C. FpumemmBmIL LenL

d. uspTET®I e. alewL Gafuaisvemnsv

71.  Which of the following statements/s is/are true?
1. Bose-Einstein condensate is a gas-like state of matter
2. It exists only at high temperatures
3. It was predicted around 1995
4.1t is used in the field of cryogenics
a.1and 4 only b.1, 2, and 4 only c.1and 3 only
d. All of the above e. Answer not known
gilwmer gnBnISeN6T HewiL Bld?
1. Gumerd - geiTerOEMLGT F(hHHID el eumuyBlensv Gumeip LGHLGUT(HeTHeier mBlenev
LD.
g@@ IFHd HLU Oeulil Heneouled @&mer ILIBLD.
@& 199560 HewildbHLILL L Gl
Bz SERGMT (Wpempuled LWeTLGS MBS
1 wBpid 4 Wl B b. 1, 2 wBpb 4 w G ¢ 1 wBpd 3 WL HWD
. CuBsaiL. masHHId e almL OFflualsoamen

P A
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72.  Consider the following statement
Assertion (A): A freely suspended magnet always comes to rest in north - south
direction
Reason (R): The attractive force of the magnet is very large near the two ends
a. (A) alone is correct (R) is incorrect
b. (A) and (R) are correct and (R) is the correct explanation of (A)
c. (A) and (R) are incorrect
d. (A) and (R) are correct but (R) is not the correct explanation of (A)
e. Answer not known
LeTau(HeuaTaUiBen®m LU ISb.
&Bol (A): soLwWianl OFThs el LUl (HeTem SMhHLOTIS], 6ILIOUTIRSID aLdEG — OFHBE
HenguiGeoBuw @uie] MeMeudhE 6I(HLD.
asmyend  (R):  smhashder  mllelng &MbeHHHET &  (PORHETID  SHIFHBLOTH
BBHSBSI.
(A) o @B gfl (R) seum
(A) oppd (R) @yemid gfl Gwend (R), (A) alBsmer gfiwmer alendasiom@Lb.
(A) wigd (R) QreviGd seim
(A) oppib (R) @yemipd gfl, syemed (R), (A) aiBsmer sflwmer aflendsiosven
alenL  Oxfluwailsvensv

oo o

73.  AnInstrument used in electric circuits to find the quantity of electric current flowing
through circuit
a. Ammeter connected in series
b. Ammeter connected in parallel
c. Voltmeter connected in series
d. Voltmeter connected in parallel
e. Answer not known
Wergmmled uTud WerGemml L SHeir Slenener SjenalBL HHal
CarLfenemiifed @ememtdalLl L SIDOL LT
ubs Beneniliiled SenerrebslILl L SO LT
CamLfeneniled Genemidballl L 6I6I(LSSHLOT60N
USs Deneniliied @ememiballl L L6TIeI(LSHSHLOT60
alewL  OFflwaisdensv

can o

74.  Identify the incorrect statement about shadows.

i. Shadows will be formed only by the translucent objects.

ii. Shadows will be formed in the same direction of light source.

iii.  The characteristics of an object cannot be determined by its shadow.
a.iandii b. ii and iii c.iand iii

d. None of these  e. Answer not known

SIPHEWILUBMIET Hlpedled LeWILS6T LB HeupTel amssSwusbmdsd CaHiTey OFuis.

1. UGFH eam@Bmad GuThHeT LB HIOEOHMET © (HeUTE ) eTN360T.

ii. BIP6LH6T eIIEOUTIDSHILD @61 cpevld BHEBGWD HMFuled 2 (HeuTGSLD.

iil. @@ Qummeier Bipenevd O@Temi(h SHIICUT[HeMET HeTenLoeUIS H6WIL Bl EUIOTSHI.
a.iandii b. ii and iii c.iand iii

d. ggifevenso e. alewL GaMuwealsdemev
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75.  Identify the correct statements about the properties of light

i. Light always travels along a straight line.

ii. Light always needs a medium for its propagation.

iii.  Light cannot travel through Vacuum.

iv.  When light is incident on the interface between two media, it is partly

reflected and partly refracted.

a.i,ii b. ii, iii c. iii, iv

d.i, iv e. Answer not known

SIpHemTLeuBmIeT eefule LewiLseT GBiSH Fiwnear aursSwumsamnennsd BCxie) CFuis.

1. ol erICUTHID CBTBHTL 1960 CF60HMBGI.

il. ol LJayeusBE gesmIb @ oL &b CHeme.

ii. CouBiLSFHler auflwns @efdadiT CFs0eTg.

iv. efwrergd &Bm Goupl oo smiseiear Sl (pslimu  SepLwd  Gurgl, Sigl
UGSHwene| e1HOTaid@b, LGHwene allessd SjenL .

a.i,ii b. ii, iii c. iii, iv

d.i, iv e. alewL OxMwaleenso

76.  Match the following

Nature of object/image Condition

A. Real image 1. Rays actually converge at the image

B. Virtual image 2. Rays appear to diverge from the image

C. Real object 3. Rays actually diverge from the object

D. Virtual object 4. Rays appear to converge at the object
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 1 2 4 3

d. 2 1 3 4

e. Answer not known

CUT(HS HIB:

QuITheiT/ LNDLISHET  HeiTenLo BLbHSHement

A. Quur ibuib 1. 2 antenowtaBeu &6l LbLGHHe0 @Galud

B. wrw dibud 2. UbusgHelmba sdliTsen Lfleug Gureim Camermid

C. Quuil Qummei 3. o ewiewwnaBe sHTaHe Gummelledmba LlfleusnLujb

D. wrmwd GQummeit 4. szl OGurmeied @Gealeuensll Gumeip GHTaIBID
A B C D

a 1 2 3 4

b. 2 1 4 3

C. 1 2 4 3

d. 2 1 3 4

e. alenL Oz flwailsvemnso

77. A 900kg Car moving at 10ms! takes a turn around a circle with a radius of 25m.

Determine the net force acting upon the car.

a. 3000 N b. 3200 N c. 3400 N
d. 3600 N e. Answer not known
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900 &Beor Hgmb Blevpulem W WAWHSH eem 10 18/ alpmy Gausbdhdled 25 B LT b
2 MLW QU LHMS FBB UBSBH.  WLIHWHDHeT WBH OFweOLBL HHT almaemuwid

BH60Tb (5.
a. 3000 BluyL 6ot b. 3200 Bluyt L est c. 3400 mlugl 6ot
d. 3600 Mluyl L est e. alewL Gapfwalsdenso

78.  Consider a person of mass m, who is travelling in a lift which is moving upwards.
What is the relation between his Apparent weight and Actual weight?

Apparent weight is greater than the actual weight

Apparent weight is lesser than the actual weight

Apparent weight is equal to the actual weight

Apparent weight is equal to zero

Answer not known

B Hewm OBTeWIL  @HeuUT LaIETHH UL Ged GBTHa BSTHBMT.  DieUHmL W

SHTHB 66Nl OBHILD HleweowTen 6lenl 6TeleuTHl LTBILGESBEI?

CaHTHB eTemL, HleneLWTaT 6Tl &l SHIHSHLD

CxTBm eTemL, HleneowTen 6L &l (G6MBeY

CxHTBB eTeML, HeMeLWITEH © 616N 6TMLHG FLOLD

CxBm eTemLulled FHIIL SHWTEGLD

alenL  OFfluwalsvensv

g 0 ap o

P oo o

79.  Assertion (A) : A transformer cannot be used with the direct current source.
Reason (R)  :Current in the primary coil is constant.
a. Both (A) and (R) are true, is the correct reason.
b. Both (A) and (R) are true, is not the correct reason.
c. (A)is true but (R) is false.
d. Both (A) and (R) are false.
e. Answer not known
aBol (A) : CrTdeng WG L (pevHBIL 6T @(h WeomBpilenwil LWTLGSHS — (PIQUITSI.
aryewid (R) : waeaienw &imefled 10aGami b Blensowitas G (HEHE)ID.
a. (A)wppid (R) @yewibw &M, (R) sfwrers smyemiid
b. (A) wppid (R) @yemin sf, (R) seuprensd smyewid
c. (A)sfl (R) meupi
d. (A) wspid (R) @rewibo Heum
e. alewL Gafweaisvenso

80. Match the following

A. Motor 1. Device used to convert Mechanical energy into
electrical energy.

B. MRI 2. Converts low alternating current to high
alternating current.

C. Transformer 3. Used to obtain image of internal parts of our body.

D. Electric Generator 4. Device which converts electrical energy into

Mechanical energy.

23 | Page 044-24339436, 42867555, 9840226187



A B C D
a 1 3 2 4
b 2 3 4 1
C 4 1 3 2
d 4 3 2 1
e. Answer not known
QUTHHSHIH:
A. alewal Gums 1. BQuwods BB LOGTRIMBBEVTS OTHBBID @H H(hHal
B. etb. & 2. GoBHS WLIBIHMF WG L Hendh DIHH

OTBIHDF  OTCITL L LOTSH OTBHILD  H(H&.

C. Blesriomizns 3. 2 Leder o L Lprisefer LIDURISM6NS SHTewl 2 Ha|d HHe.
D. esreniiuigins) 4. DeTImBBensy QUIHEHT LBBeLTS WIBBILD HHa.

A B C D
a 1 3 2 4
b. 2 3 4 1
C. 4 1 3 2
d. 4 3 2 1
e. alewL Oaflwealsbenso

81. A human eye can clearly see all the objects placed between and infinity.

a. 15 cm b.20 cm c.25cm
d. 30 cm e. Answer not known
BUIEOLITS LTS S 6u01H61T 660 (WHeL FBleVTS OFHTeNeve| eueny 2 66 QLIT(HenEN
OgefleuTs STEOILIQUILD.
a. 15 Q&1 b. 20 Q&8 c. 25 Q&S
d. 30 Q&8 e. alewL GaMwaledenso

82.  Consider the following statement.
Assertion (A): If we put one drop of water in castor oil, water drop sinks.
Reason (R): Some oils are denser than water.
a. (A) alone is correct (R) is incorrect
b. (A) and (R) are correct and (R) is the correct explanation of (A).
c. (A) and (R) are incorrect
d. (A) and (R) are correct but (R) is not the correct explanation of (A).
e. Answer not known
UaTeuheueieuBens LU,
apul (A): alensOsamenaniuied @ Hiefl By @GELEUTIRE, BIdHdeT PDESLD.
argenid (R): Flev erewtClewiul cuena e HoJal DHH SILTHSH OBTIL ene6.
a. (A) ol i (R) saum
b. (A) wipd (R) GyewiGi il Gweud (R), (A) elBsrer gflwner alendsom@ib.
c. (A) wppd (R) Grewibid sHeum
d. (A) wppid (R) Grewid af, gemed (R), (A) alBster gflwmer alendsiosds0
e. alewL O fluwailsenso

83.  Which of the following are correctly matched?

I. Distance - time graph - Speed
II. Speed - time graph - Acceleration
III. No change in velocity - Negative acceleration
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a. I and II are correct b. I only is correct c. I'and III are correct

d. I, Il and III are correct e. Answer not known
SpaumHeuaTauBEIeT elemer Fflwmes QUIHBHSUeTengI?

[. OxTeweve — SMeUlD QUEMILLID - GsumLd

II. Gousmld - &HMeVID GUEMFLIL LD - ({BHHBID

III. wrpre Geusld - aFT (pHHHD

a.lwppio I & b. T @G & c. [ woppp III &l
d. L II wpmb III & e. alewL GaMuwealsvemsv

84.  When air inside the hot air balloon is heated, the density of the air inside the balloon,
a. Decreases b. Increases c. Remains same
d. Decreases and then increases e. Answer not known
CeulIusGaETBBI UNTeTleL 2 6iTem STHemB CeulILILGSHSHIDCUTHI, LTele0 © 6Tem  &HTHASI6H
SILTHHWITEIHI,
a. GmmBU|Ib b. eisfdbE C. LDTBTG
d. oopba Laem g@sisgn e oo Oxflwalsvenen

85.  Match the following and choose the correct one:

A. Monovalent 1. Beryllium
B. Divalent 2. Aluminium
C. Trivalent 3. Iron
D. Two Valencies 4. Sodium
A B C D
a. 4 1 2 3
b. 4 2 1 3
C. 1 2 3 4
d 4 2 3 1

e. Answer not known
SaumeuaTaBens CUTHHEH Fhlwrer allwLenw Cxie QFUis.

A. @b - BDaHBeT HEILOLD 1. Gufleduwib

B. 8 - Smewidmer sHerold 2. odeiwib

C. apsiipl - DenentdHmet HeLoLD 3. &by

D. gatpis@ Guomul L @enemnts)mest 4. @Ggmguibd
A B C D

a 4 1 2 3

b. 4 2 1 3

C. 1 2 3 4

d 4 2 3 1

e. alewL G flwailsvenso

86.  Which of the following properties of alcohol are useful to be used in a thermometer
L. Freezing point of alcohol is less than -100°C
IL. Expansion per degree Celsius is very large
III. ~ Transparent but easily visible
a. I and III only b. I Only c.Tand II only
d. II and III only e. Answer not known
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87.

88.

89.

LeiTeu(hld  LeLHABTEJlET LIGwTLEH6M60  6lened  Siendh  GeauliLplensolomeideiled  LIWIGTLIGSHS
2_g0|Snal’

L. Spevdamted - 100°C G GHomauTar 2 _amBHemevenul CBTasIBeTengi.

II. @ 1AM GFeodwed GealiuBemey o wWialBEg BFHaT alfleuedLujld $HeaTeno
SIHBLOTSLD.

II1. @6l oaB(heyd LWL WF elefeanid GgHeMeums SHmewr EUIGILD.

a. [ ompud 11T o1 Hid b. I i@ c. [ iopmip II ol Bib

d. T wBmd 1 w Gid e. alenL Gafwealsvemnso

Which of the following statement/s is/are true?

L. Angle of incidence is always equal to angle of reflection

IL. Reflection of light in mirror is regular reflection

III. ~ The incident ray, reflected ray and normal lie in the same plane
a. I only b. I and III only c. Il and III only

d. I, II and III e. Answer not known

Uateupd Sammiselled ghwmengl 61g17

L. uGGsmewI(pD, e1glOTailis Gsmenr(pd GIIGLITIPGID &LoLb.

II. SHeWIenTToUle0 HEWL OUBID 61HETTaNlL Q@pmsTe 1HOTTeiy SLESLD.

II.  upsdt, GH5HSCHTH wLBEILD aHerTefiiysasdT oEwemear @61  Hengdev
SIEMLOU|LD.

a. I wr@Gw b. I wppid I o Gib c. IT wommup 11T o Bib

d. L, Huoppn I e alow. Qsfwealsbensw

Identify the correctly Matched Pairs among the following;:

L. Astronomical unit - 496 x 108 km

II. Light year -9.4607 x 1013 km

[I.  Parsec -3.09 x 1012 km

a. I only b. I and III only c. I only
d. I, II and III e. Answer not known
Weiteumeueteupmien Fflwmes GUTHSHSUILL (BHelTen Eenemrdenen SIenLWITENND &L (Hb.
L. UTENIGY SI6VE, - 1.496 x 108 .18

II. ool oLem(H - 9. 4607 x 1013 &.16

II.  elewiemiuied Syyb - 3.09 x 1012 .18

a. I ol @G b. I @ 11T o1 Gib c. II o ®Bib
d. L IT o  1II e. alewL Gafuwaledenso

Calculate the pressure exerted by the foot of an elephant using the following data.
Average weight of an elephant is 4000N.

Surface area of the sole of its foot is 0.1m?2

a. 10,000 N b. 40,000 N c. 40, 000 N m-2

d. 10,000 N m-2 e. Answer not known

&SBp  OBETHSHBUILLBeTen  HIBaUcLHemeNd OaTewiB  wienetullel 6@  &T60  eLp6vLd
QFISHHILIBLD DI(DSHDHMD BHeIHS (B

wrenetullesr gymaf etew = 4000 N

wirenerulesl @b UTHSHer Ly = 0.1 m’

a. 10,000 N b. 40,000 N c. 40,000 N m2

d. 10,000 N m-2 e. alewL Gafuialsvemsv
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90. Consider the following statement, choose the correct answer from the codes given
below:
Assertion (A): Rain drops are spherical in nature
Reason (R): The molecules of liquid contracts the extent of their surface area as
much as possible.
a. (A) alone is correct (R) is incorrect
b. (A) and (R) are correct and (R) is the correct explanation of (A)
c. (A) and (R) are incorrect
d. (A) and (R) are correct get (R) is not the correct explanation of (A)
e. Answer not known
LetTeu(heueaTeUiBens  LUIb.
FBm (A): wmdHaleNser QuiBamasuTaBa Csmen algaldHhmad GLBMIHSBESLD.
aryenid (R): Fyeu cpeodbanmidell HhIBeNTed BUIETB Sjeey WBFAB LBUTLIDL DienL Wl
(WPBU@BLD.
a. (A) wi e i (R) saum
b. (A) wBpwn (R) @rewipo M Gweubd (R), (A) elBsrer gflwmer elendsiom@ib.
c. (A) wpgd (R) Grewibd sHeum
d. (A) wpp (R) Grewien af, spemed (R), (A) alpsrer gflwner alendsneoen
e. alewL Gaflwealsvenso

91. An ancient book “On Burning Mirrors” about parabolic mirror was written by,

a. Ibn Sahl b. Euclid c. Diocles
d. Ptolemy e. Answer not known
UFeuenel Sploenuwill LMKl S@Ib UDBISTEL LSHSHD ‘6lfiyd QLoHeT - £ 6I(pdlwleu.
a. ®ier agTeL b. wael® c. oL BGuimdleierd
d. smeod e. alewL Gapfwalsdenso
92. Arrange the following substances in descending order based on their refractive
index.
I. Kerosene IL. Air III. Water IV. Quartz V. Diamond
a.V, 1V, 111, 1, I b. 1V, V, 111, I, II c.V,IV, LI, II
d. IV, V, 1L 11,1 e. Answer not known
Ueteupd  Qumpeiseiler  @eaflalevded  elewienewill  QUTHSH  BBrIGauflengulsd
PUHIGLBSSIS.
I. wewrGemremiQemrut II. smBm III. i IV. @eumiyerd V. emeuyid
a.V, 1V, 111, I, I b. 1V, V, 111, I, II c.V, 1V, I, 1, 1T
d. IV, V, 1L 11,1 e. alewL Gafuwaledenso

93.  Vaccum flask was invented in 1892 by
a. Reinhold Burger b. Sir James Dewar c. Antoine Lavoisier
d. Pierre Simon Laplace  e. Answer not known
CouBpiiL S heneuenut 189210 WG (WHT(PHele0 HewiLBbdH SinfallieomeriT,
a. GruierGsmev® LTI b. gt Gmiberd Heurm  C. SLEHIGLTWIGT VAT IENSIWIT
d. YW@y ewagweir eumlievmerd e. afewl  GaMuialsvemev
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94.  When an object is heated above 500°C, in what order does the colour change happen

generally?

I. Yellow II. Orange III. White IV. Dull red glow
a. 1L IV, III, I b. 1L, 1V, L, 111 c. 1V, I, I III

d I, I 1II, IV e. Answer not known

500°C &@ oiFHsomer CeuliLpbmevdE @b GLmmemen CeulILBSHHIDCUTSI, CUTHIUTS 6hHSH
auflewguied ©IH6sT HIBLOTBBLD HlSHAPLD?

I. wehaeir II. oyeha III. Geusitemen IV. wmdw Heuriy
a. IL IV, III, I b.II, IV, I, III c. IV, 1L I, III
d I, I 1II, IV e. alewL GaMuwealsvemev

95.  The uppermost portion of the Sun’s atmosphere is called

a. Radioactive zone b. Corona c. Photosphere
d. Chromosphere e. Answer not known

GFw euelemiLsudhdHleir o wihsd Gsd LGS

a. &FTaiFs 6w 60D b. s@ymeom c. @elabGamend
d. euemtenisBasmerntd e. alenL Gafwealsvenso

96. Water is used as a coolant in Car radiators and factories because
a. It has lower density b. It has low specific heat capacity
c. It has high specific heat capacity d. It is ubiquitous

e. Answer not known

arsamseier  Geuliubd  FHaldGh — Sewwlyselled  OFTHBsTemedalaIDd BT
GoefiTalliumeme LWaTLUGSSLILIL.  STF6uILD.

a. GOBHS TS b. gomhs SeGiL gBLSHBeT

C. 9155 FHROIL gBLSHSMest d. erefldled HewLH55 Fmiguig

e. alewL G flwealebenso

97.  Intensity of sound does not depend on,
a. Distance between observer and source b. Surface area of the source
c. Quality of the tone d. Frequency of the source
e. Answer not known
eelulelr OFpley elemspF gMThHeH BHHHTHI?

@60 (peuHHMBESLD CHL LauHEGD BB 2 e GGHTmeV6

@60 (PSS LITLILIGN6Y

Cgreluller Srb

@60 (peVHH T DISHTO\616uET

alenL  Oxfluwailsvensv

oo o

98.  Consider the following
Assertion (A) : Two whales in sea which are even hundreds of kilometers away can
talk to each other.
Reason (R) : Speed of sound in sea water is 5 times the speed of sound in air
a. (A)alone is true (R) is false
b. Both (A) and (R) are true and (R) is the correct explanation of (A)
c. (A)and (R) are false.
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)
e. Answer not known
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99.

100.

101.

102.

LetTau(heuaTauiBens LIS

amp (A) : sLed BHSGeT U HIM HCumbl LT OFHTemevalsd BHeb&GHID BFeni®
FHOMIBHE0RIHENT QRBISHGL 60T eTerllFHe0 CUFHOBT6ITET (LpIQULD.

a1rewid(R) : @elwneng smBenpall, &LevBTed 5 WLHIG CaudbdhHIl 6 LIl E@LD.
(A) o’ @G afl (R) seum.

(A) oppd (R) @yewipd gfl, Gwed (R) eeiug (A)-alBg gfwmer alendsom@Lb.
(A) wppid (R) BrewiGd seuml.

(A) oppd (R) @yemipd gfl gpemed (R), (A) alBg gilwmer alendasioeos.

allewL  OFflweaievenev

oo o

Consider the following

Assertion (A) : Uranus has the longest summers and winters

Reason (R) : Uranus has a greatly tilted axis of rotation

a. (A) alone is true (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. Both (A) and (R) are false.

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known

LelTeu(hHeueaTauBens LIS

gBm (A) : WBremeniled GaTeLHBTeOD, &GH6MT STeO(pD WSaD HewiB E(HSESLD.
a1rewid(R) : wByemerd WsaD FTUIHSH DFMFH OBTEHTIHETETSI.

(A) oG gfl (R) seum.

(A) oppd (R) @yewipo gfl, Gwsd (R) eeig (A)-alBg gfiwmer alendsom@Lb.
(A) wppid (R) @rewiGd seuml.

(A) oppib (R) @yemipd gl epemed (R), (A) alBg gfilwmer alendasoeoeo.
alenL  Ogflwaisoensv

oo o

Chromatography is based on the principle of

a. Chemical adsorption ~ b. Hydrogen bonding c. Absorption

d. Physical adsorption e. Answer not known

auewienilILIfensd (WeB 6hHd OCBTeTnHMUL DlgliLienL WTHS CaTemi(B OFwedLIBSBEHI?
a. Gaudl uriyd sadd b, ewaml ymer Nenewiiy] C. 2 MlehddHev

d. Queoy uglins saitsd e, el GOafuealsdemed

The number which distinguish various atomic orbitals and electrons in an atom is
a. Atomic number b. Mass number c. Valence number

d. Quantum number e. Answer not known

Slgmiaier o 6Teal(hb@Hld Slaml ST L 60 LOBEBID 6160 JT6TH6T60T  aUQeUeMLOLIL|  LDBHBID
Goumium enL. GG 6Teuot

a. Slgml 6I6wT b. Menm 616w C. BOWHMET 616w
d. GeuTewILID eTewr e. alewL GaMueisdemev

Identify the correctly matched pairs among the following.

L. First equation of motion - v =u + at

II. Second equation of motion - s = at + /2 ut?

II.  Third equation of motion - u? = v2 + 2as

a. I and Il only b. I only c. All the above
d. I only e. Answer not known
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103.

104.

105.

106.

Wentau(meussteumplied gilwimest @enewtenwl BHihoH®.

L. (PHe0 BUIdHF FoSIUTG -V =u + at

II. BUILTD QuibssF Foaun@® — s = at + 72 ut?

I1I. SIS BUISSF Fwaum® - u?=v2+ 2as

a. [ wppio 11 b. II i Bib C. DIMANHSBILD
d. I o Bw e. alenL Gafwealsvemnso

Human lung is well adapted to breathe at a pressure of sea level,
a. Pa b.101.3 KPa c. 10> Pa

d. 1 bar e. Answer not known

weliHeledl HmFuized SLEVWLL  GUATENIL6D  H(IDSHHHH FaumdFlusBCsBL  HSbHD
SHHUMLOLIDLIS  OCBTeuT (BTN G

a. Pa b. 101.3 KPa c. 105 Pa

d. 1 bar e. alowL GaMuwealsvemev

Which of the following statement/s is/are correct?

L. The pressure difference in liquid column vertically is responsible for
buoyancy.

I1. If the object weighs less than amount of water displaced while immersing,
the object is negatively buoyant.

III.  If the density of the object is more than water while immersing, the object is
negatively buoyant.

a. I and IIT only b. I and II only c. IlIT only

d. None of the above e. Answer not known

FHDHMIL FnBuIBelled 6151/ etewar Ffluwimereneu?

I SHraushsbusHHe0 gBUBLL HH CoupumhETer SIS HeTenodE HTJ6wILD.

IL. QR  QummenTergl S BLUCUWTEFS CQFuigh BT emLemWell (& enmeuTer
TMLMWIS OBTEWIYHHITEL DIHHMBU  OLITHETH6T  CIHTOMBUWITERT  OHHGLD
SO OSHTEITL M6,

.  @m Ourmeflar o iTsHuneig Hiar S THHow el DHHOTS  BHbHHTEL
DIHHMBW  GILIT(HETTH6T THTOMBUITET LOSHHEGHID SHTenmIs 6B TERIL M6,

a.l wmpmo III b. I wmmid 1T c. Il w1 (B

d. Gupamnw egefevemer e. alemL  Gafuialsdemsv

Extremely weak electric current produced in the human body is

a. Continuous signals b. Sinusoidal signals c. Synaptic signals

d. Electroreception e. Answer not known

welld o Leded WA Lsh Hiberselar QubsHHTe0 WSD el  GHsTnsiw
WSTCHIT LID © (HheuTdHBH BWSH __ 6160IHI SIS SLILBSBSI.

a. OeTLT mFms b. enFeaaTiIL6d MFMD C. By MFnd

d. BereurGaursLy e. alewL GaMueisdemev

Which of the following statement/s is/are correct?

L. Electricity can be stored only in the form of dc.

IL. Electroplating can be done only using ac.

III. ~ The ac can be easily converted into dc.

a. I only b. I and IIT only c. I, ITand III
d. II and III only e. Answer not known
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107.

108.

109.

BHDBMIL  auThHBWnkiseied o1&/ elenal Fiwimareneu?

L. Gy Wetenm L augaied WL GO WeaignyHms CaFllds Euisvid

II. LO6BT(LP6VTLD L GidHenev LoMTBISHens TG L Send Gamewi® LB OFuiw Guisilb.
1. TRIFmTF WG L SHma eemded ChIHemg LOGICHITLLOTS TBB  SUIeVID.

a. [ @ b. I wBmw [T c. I, IT wmmnb 1T

d. IT @b 1T e. alewL GaMuwealsdemsv

Identify the correctly matched pairs among the following.

L. Right hand thumb rule - Direction of current towards the thumb

IL. Fleming’s Left-hand rule - Thumb denotes the movement of the conductor

III. ~ Fleming’s Right-hand rule - Thumb denotes the direction of the current

a. I only b. IT and III only c. I'and III only

d. I'and II only e. Answer not known

gilwmer QUT(HGHHHMSH HT601H.

L. aUVEMS Al - WG L sFla1 SHewg GLmalgemev CrreHs EmHobELb.

IIL. SUCemOmdesr @)L giews  ald — Gumelgeurerg SLHF BuURkGLD Hagemuwl
GBI SEBSI.

. . 0emimdear euevdms oldh — Oumalgeorearg WIGHTLLSH6aT SHevganl
SIEEIuEN

a. [’ @ b. II wpmid I o G c. I b IIT w1 Bid

d. I ipgid 1T o Gio e. alewL Gafualsienso

Which of the following statement/s is/are correct?

L. Whenever there is a change in magnetic flux linked with a closed circuit, an
emf is produced.

I1. The emf induced varies directly as the rate at which the flux changes

III. ~ The direction of induced current was given by both Lenz’s law and Fleming's
Right Hand Rule.

a.Iand II only b. I only c. Il and IIT only

d. I, Il and III e. Answer not known

Ueteupld eurdbaumisealed eigl Filwimearene?

L. STHSLILTWID  IBIDOUTIREH  STHSLILSHe0  meubslulL  LOSIEBBSed @b

HeelwsE alens (emf) o (meur@ib.

II. Weelwd@ alemguler AU  SrhsUUTW  TRILUT (G aidHmsll  QUIBISS!
SIENLOU|LD.

II.  gmewiu’ L WeiGerm L gdHler SHevmenwl Geveiteie el oBmid . .L166mOm 6eg)
md el cpsold allensalILGEBSI.

a. I ompd IT o Gib b. I o @b c. IT @b T o Bib

d. I, IT @b 11T e. alewL Gafuwaledenso

To see your entire body in a mirror, the mirror should be atleast,

a. Half your height b. V4 th of your height c. ¥ th of your height

d. Same as your height ~ e. Answer not known

DPFHEM60 2 L60 (ppeugild LUMTHd Ceueni(hLeBTed od6T _ Senaled B(HHD
Gouemi(BLd?

a. BIG 2 WyHHed LT b. s o wrsHed Vi umG

C. BIDF 2 WIHHe0 Yi LRIEG d. mog 2 wyib

e. alewL O fluwailsvenso
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110.

111.

112.

113.

Find the distance of image when an object of size 2 cm is placed at a distance of 20
cm from a concave mirror of focal length 10 cm.

a.40 cm b. - 20cm c. 30 cm

d. - 60cm e. Answer not known
10 Gg185 @alwsd OCsmmevey OGamewi GWwmy aMedmbal 20 QF.6 GFTemsouled
meuSSLILILBeTen 2 GF.5 o wgb o e6en e OCummeier LbusbHler CFHTeneve| STewis?

a. 40 cm b. - 20cm c.30cm

d. - 60cm e. alewL Gafwalsdenso

Match the following

A. Plane mirror 1. Astronomical Telescope

B. Convex mirror 2. Lateral Inversion

C. Concave mirror 3. Mirage

D. Refraction 4. Traffic Safety
A B C D

a. 2 4 1 3

b. 4 2 1 3

C. 2 3 4 1

d. 4 2 3 1

e. Answer not known

QUT(HSHHIB:

A. Fwzgen g 1. aumedllwied GHTEeVEHTSHE

B. @al 99 2. ®Lalev LOTHBEBLD

C. a1 s 3. BTeTey [

D. @af alevssd 4. CuTeEGTHSH LTSHISTLIL
A B C D

a. 2 4 1 3

b. 4 2 1 3

C. 2 3 4 1

d. 4 2 3 1

e. alewL G flwailsvenso

Who is regarded as the father of fibre optics?

a. Narinder Kapany b. C.V. Raman c. S. Pancharatnam

d. J.C. Bose e. Answer not known

A eeflulweler HHewd 66l SiemSSLILIBLeUT WT?

a. BT suTe b. C.V. gmweir C.S. UEhFTGHeID

d. J.C. Gumerd e. alewL GaMuwealsdemsv

Arrange the following in descending order based on their conductance of heat.
i. Brass ii. Copper iii. Aluminium iv. Iron

a. iii, iv, ii, i b. iv, iii, i, ii c. ii, iii, i, iv

d.iv, 1, 1ii, i e. Answer not known

Caulingd &LHHL FHpeidenen  DQLILIDL UWITH  CaTeni(h  SDSHEWIL BB BBHIGHLD
aflemguied euflengiLGHHIS?

1. Ugzpemern ii gmAyb iii. oeidlefuib iv. @(mib

a. iii, iv, ii, 1 b. iv, iii, i, ii c. i, iii, 1, iv

d.iv, i, iii, I e. alewL GaMuwealsdemev
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114.

115.

116.

117.

118.

The rotating or turning effect of a force about a fixed point or fixed axis is measured

by
a. Torque b. Inertia c. Momentum
d. Mass e. Answer not known

alengwmeigl @@ UeTefulled olebevg @b SDFFle0 gBUBHHID SpBelaenene
CLP6VLD  OIENAIIL_6UITLD.

a. alenguier Fmuydmer b, Hleneoiotd C. 2 holb

d. Benm e. alewL GaMuwealsvemsv

Example for apparent weight

a. Upward and downward movement of the lift
b. weightlessness in roller coaster

c. weightlessness of astronauts

d. All the above

e. Answer not known

CaHTBm 6L &E 2 STJeniLd

a. Waignssluler Gevs bHeTey

b. 2 mewiBLIGBD OHTL Teuamtiguies eremL_uleTento
c. alewiGeuel aiyflenr etemLulleitentp

d. GuBanpiu SiemeTHHID

e. alewL G flwealsbenso

Which law states that “the ratio of sine of angle of incidence and refraction is equal
to ratio of refractive indices of two media”
a. Snell’s law b. First law of refraction  c. Second law of refraction

d.aand b e. Answer not known

eMeaIT @f o s5HHe0hHbH OBEBIT 2 $HHBGHF OFe0IDCUTH  LIGEHT6mTS S 601
mgFel HIIBSGD aleodCsTamshder mage HITNBGSWD 2 6en HH6|

a. eGkeL alg) b. geflalevseden (pHevald) c. gafalevdedesr Byewimb alg)
d.aandb e. el OxpMwaledenso

Which of the following statements is/are correct?
1. Refracted ray is bent away from the normal if the light travels from denser
medium into a rarer medium
2. Refracted ray is bent towards normal if the light travels from lesser into a denser
medium
a. Both 1, 2 are correct b. Only 1 is correct c. Only 2 is correct
d. both 1, 2 are incorrect e. Answer not known
Ueteupd Snmmiseiled eteneu &iflwmengi?
1. qealdasglymeig SIL TG 261 HSHSH(HHS! SILT6Y&HMM oS5 HBESHF
CseoaIbBuTEl allevGadlT CemiGdha CamiamL all( alevdlF OFedauILD.
2. SILTYGHMB 2L HHHHHSH SiLiTey 0@ o s5HBG CFeoabdBurg alleu@GaHT
CFmIGSHHIS CaTi L ChrHslF OlFeoab.

a.1,2 e b. 1w @G & Cc. 2w @B &M

d. 1, 2 seum e. alowL GaMuwealsdemev

White appearance of clouds is example of

a. Rayleigh’s scattering ~ b. Mie scattering c. Tyndall scattering
d. Raman Scattering e. Answer not known
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119.

120.

121.

Guad gl L miseT Geuewieno HBLTHS ST Fuielldbs Smyemnrd
a. gnBev @ef&FfmHmed b. 18 gefFdmmed C. P&TLT60 ef&FFHme0
d. &ymwoest @eflFHHme0 e. alenL Gafwealsvemnso

When heat energy is applied to a body the dimension of the object
a. Decrease b. Increase c. Not changed

d. Decreases and then increases e. Answer not known

Qb GurmeaiBg GUEILILL Semen Geulil SBBeNe0 SlefdGHCUTEH Db%H CumhHerler
urflomeseid

a. GMmDBU|LD b. eifsfa@n C. LDTBIG

d. opha P shseED e. alowL GaMuwealsvemev

When the pressure of gas is kept constant the volume of gas is directly proportional
to the temperature of the gas”.

a. Boyle’s Law b. Charles Law c. Avogadro’s law

d. Law of thermal equilibrium  e. Answer not known

“omBT  SIWHHHHL  eumwjellet LT  SeleuTujaler  Geuliuplenendd  ChiTeeHHals0
SimUb”. Deiald)

a. umufed aig) b. griteverd alg) C. 9IusTL Gy aild)

d. GengwPemer &g e. alewL OxMNuweaisoensv

Match the following;:

Components Uses

A. Resistor 1. To indicate the direction of current

B. Rheostat 2. To fix the magnitude of the current through a circuit

C. Ammeter 3. To measure the potential difference

D. Volt meter 4. To measure the current

E. Galvanometer 5. To select the magnitude of the current through a circuit
A B C D E

a. 2 4 5 1 3

b. 2 4 5 3 1

C. 2 5 4 3 1

d. 2 5 4 1 2

e. Answer not known
ulwed I[eg Mo Ler QuUThESHS.

A. feiigemL wimsd) 1. WeGe LGt FHengFenuid et lul

B. i0eiigemLomigs) 2. 10etampled LT WICRIT L ST Sienenal HiTewiulshas

C. 9L 3. Betenpshs Goupum’ e Sienall

D. Geumeor” 6L T 4. OSICRIT L He0dH SjenaiL

E. smeveuGeummibi L it 5. WG L SdHlett Sjenmener CHTHOBHHHS
A B C D E

a 2 4 5 1 3

b. 2 4 5 3 1

C. 2 5 4 3 1

d 2 5 4 1 2

e. alenL Oz flwalsvemso
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122.

123.

124.

Which of the following statements is/are correct?

1. In India domestic circuits are supplied with an alternating current of potential
220/230v and frequency 50Hz

2. In USA and UK domestic circuits are supplied with an alternating current of
potential 110/120v, frequency 60Hz

a. Both 1, 2 are incorrect b. Only 1 is correct c. Only 2 is correct

d. Both 1, 2 are correct e. Answer not known

Weteu(pld Fnpmiselled eTemeu gfluimenrgy?

1. @bdHunealed &f Geeilu  BaEmed  220/230  Geuredl.  aeiapssd, 50Hz
SIFHTOeUwTamID 2 enL Wl TEFHeng 0TI LD eI ILiUGSBSI.

2. USA upmiw UK Gureis mrhseisd 110/120 Geumevr  ifasienapdhshupd  60Hz
SIFTOeuamGSBTamIL  TEIHleng GG LD Sig@IuiuBaIBaEI.

a. 1,2 gpdwu ByewiGCL Heuml b.1 w' @Gw & c. 2wl B g
d. 1,2 gu8u ByewiGGw e. alewL Gafuwalsdenso
Match the following:
Medium Speed of sound (ms1)
A. Iron 1.331
B. Water 2.343
C. Sea water 3. 5950
D. Air (at 0°C) 4.1493
E. Air (at 20°C) 5.1533
A B C D E
a 3 4 5 1 2
b 3 4 5 2 1
C 3 5 4 2 1
d 3 4 2 5 1

e. Answer not known
ulwed ITey I o Ler QUIHSHSHIS.

D6NL_&LD aluler FHemaGousd (LBal-1)
A. ®miby 1.331
B. B 2.343
C. sLe0mT 3. 5950
D. srpp (0°C) 4.1493
E. smm (20°C) 5.1533
A B C D E
a 3 4 5 1 2
b. 3 4 5 2 1
C. 3 5 4 2 1
d 3 4 2 5 1
e. alenL Oz flwailsvemnso

Consider the following statement:

Assertion (A):The sound produces during rainy season can be heard clearly
Reason (R): Speed of sound increases with the increase of humidity

a. Both A and R are two and R is the correct explanation of A

b. A is true, R is false
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125.

126.

c. A is false, R is true

d. Both A and R are true and R is the not the correct explanation of A

e. Answer not known

LeTeU(BLD FnBmISem6T DLITUIS.

aBoI(A):  wpsaToEIEaTI0  OpTmevalelBhal abHdmiewl  @edowd  Osefeurs
G _s60MLD.

smyenid (R):  smmpiler FILILIGLD SIF &M HGHEUTS a6vludlesr HenFBaumb(IpId
SIFH BN BB B!

a. A ppib R @yewihio gf Guoed R ereiug A eliBg gfilwner alendsd

b. A s syemed R sHeum

c. A saup semme0 R gl

d. A oppid R @yewiGid g Guoad R eiaiug A alie sflwner afendasoeoe

e. alemL Oz flwailsvenso

The persistence of hearing for human ears is

a. 0.1 Second b. 10 second c. 1.5 second
d. 0.2 second e. Answer not known
el THenTed Cal slLBLd @edlWmaidl BHOg HTHiEHere0 QU] [HlemeVSHH (HhHGSLD.
a. 0.1 alpmgsei b. 10 alpmgsei c. 1.5 alpmyseit
d. 0.2 aNpmgeseit e. alewL OxMwaledenso
Match list I with list II
List1 List IT
A. One curie 1. 10¢ disintegrations per second
B. One Rutherford 2. 3.7 x 1010 disintegrations per second
C. One Becquerel 3. Radioactive unit of gamma () and x- rays
D. One Roentgen 4. S.1 unit of Radio activity.
A B C D
a 1 2 3 4
b 2 1 3 4
c 2 1 4 3
d 4 3 2 1

e. Answer not known
ulwed Iey II o Ler QUIBHSSHIS.
uguied I uiguieo 11

A.qm @l 1. 10° sdHfwss Hosaser / aleg
B. @@ msir..Gumi® 2. 3.7 x 1010 Aengeysmeir / alemig
C. QusQsyed 3. a1or (@) Bl X sdlitselesr sSNbESHSET D0
D. grew_ggeot 4. sPflwsssdHear S.I oe0E
A B C D
a 1 2 3 4
b 2 1 3 4
c 2 1 4 3
d 4 3 2 1

e. alenL Oz flwailsvemnso
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127.

128.

129.

130.

Which of the following statements is / are correct

1. Sun fuses about 620 million metric tons of hydrogen each second

2. Sun radiates 3.8 x 10% joule of energy per second.

3. When the radiation from sun reaches the earth its value is 1.4 kilo joule per unit
are in unit time

a.1, 2, 3 are incorrect b.1, 2 are correct c. 1,2, 3 are correct

d. 2, 3 are correct e. Answer not known

Weteu(pld Fnpmiselled eTemeu gfluimenrgy?

1. @ alamguisd Gflweled 620 WsedweT GLOL M L6l emaBL JR6 SIEmIdhH(h Benenie)]
HeOL OUBIBBSI.

2. @ alarmouisd 3.8 x 1026 agred ouBmed &HFHMNwGHITS GeueiILGHBSI.

3. yenw SemLwbCurgl @revg ugliied 1.4 HGeom 23760 SuBBeuTs CeuailLBGH MBS

a. 1,2, 3 sam b.1, 2 & c.1,2, 3 &M

d. 2, 3 g e. alewL Gafwalsdenso

In India the national physical laboratory is situated in ?

a. New Delhi b. Chennai c. Kerala

d. Mumbai e. Answer not known

@bFHwraled o sten CarFlw SuIBLIuIed SLUIISLD 6HIG DIMLOHSI6T6ENSHI?
a. UsloLeved b. Ggaiemen c. Gaiyemm

d. @wibenui e. ol OxMwaleensv

Consider the following:

Assertion (A): Workdone by centripetal force in uniform circular motion is zero.
Reason (R): In uniform circular motion, the centripetal force is perpendicular to the
displacement.

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LetTeu(heueaTauiBens LU Ib.

a&Bul  (A): dmer el QuissHdleo, wwrdbe elemaulammed  GQuTmelear L5
Cauiwiu’ L Geuemev SLPWITGLD.

aryewid (R): dymenr sul' L QuisssHdHe0, mwChTaE aleng Gummeiear @ LCUWTFHSE
CFmIGHHTE CFWOLGHBSI.

(A) o’ @G gfl (R) seum

(A) oppd (R) Byemigid il Gwed (R), (A) alBg afiwmer elendbsiom@Lb.

(A) wpgid (R) QrewiGd seuml

(A) oppb (R) @yewipo gfl gpemed (R), (A) alBg gilwmer alendasioeseo

alenL  Oxflwailsoensv

oo oe

Horizontal range in a projectile motion is inversely proportional to,
a. Time of flight b. Horizontal velocity
c. Acceleration due to gravity d. Height

e. Answer not known
aplOUM(HeT BWSSHHe0 FHMLHHeN OCEBHHILD THBE THTHHHOI0 © 6Teng?
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131.

132.

133.

134.

a. uBsGD GpyLb b. doLHHen HanaGeusid
c. yaluiimiy (p®ésid d. o_wyib
e. alenL Oz flwalsvenso

Identify the correctly matched pairs:

L. Inertia of rest - When a stationary bus starts to move

I1. Inertia of Motion - When a whirling stone attached to a string is cut suddenly
III.  Inertia of direction - If brake is suddenly applied in a moving bus

a. I only b. I only c. All the above

d. None of the above e. Answer not known

Leteu(heussteuBmie Filmer Eenemrhenen  &Hewil ildb.

L. @Uialed MBlemeulold - gule] Meneoulevieen GUBHH Bunisd CFHTLmIEGID Gurg)

II. AUSHSH0 Blemeoold - GpBF QuSSSIHeVeTeN, @  (pemetuled SLL LI L
&evevlelr BUIBl FHlebyaim IBILGLEUTS).

I11. Buwss Homguled Hleweowld - QubssSdHeeren Cumba, HoOLmW HlebFais
S SHHIDCLTSH

a. [ @ b. II i B C. CBHMIL  SHIDRTHHBILD

d. GuBsemi egfleoamsy €. el GFHfuialsvensv

Consider the following;:

Assertion (A): We can treat Earth as an inertial frame

Reason (R):An object on the table in a laboratory appears to be at rest always
a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) is incorrect (R) alone is correct

d. (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

UaTeu(heueiouBens SyUish.

appl (A): yalulener BID @b Bleweood GMILILTWILOTSS SH(HSHEOTLD.

amendb (R): guiussdleo  GBuweng 16g  audsslUlL  UdH s auGUIgID  @uie]
BlemeoulGeuGul o 6TenFHTed SHHSILGHBSHI.

a.(A) w' G gfl (R) seum

b. (A) wipb (R) @remied M Gwed (R), (A) alBg aflwrer alendaom@l.
c. (A) saum (R) wi @ &

d. (A) wppid (R) Sgewibd i apemmed (R), (A) alBg gflwmer alendsinsosv.
e. alewL Oaflwealsvenso

Impulse is a quantity and its unit is

a. Scalar, N b. Scalar, Ns c. Vector, N
d. Vector, Ns e. Answer not known

HSHIHTES Q@ ___ DeTaUTGD. DHAT DG .

a. eBmsevr, N b. eBasevit, Ns C. QeausLiT, N
d. GeusLit, Ns e. alewL Gafuialsvemnso

Which of the following statements is/are correct?
L. Any object on the surface of the Earth experiences centrifugal force
I1. This force is much larger than the gravitational force
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135.

136.

137.

138.

a. I only b. I only c. BothIand II

d. Neither I nor II e. Answer not known

Heteupld ampuiseiled Fhwimerg/ eveu e1gi/ eTeneu?

L. yaltugiieeen ebsd @b GUTHEHLD wwwalevdd alamgamul o 6wl(HLD.
II. @bs alemg, Laluiiiy elemgmwel s SiFHsd

a. I o @Gw b. II o B c. I iy IT

d. GomamPiw aglafebene €. almL  Gafuialsdemsv

Consider the following;:

Assertion (A): An ice dancer spins slowly when the hands are stretched out
Reason (R): Stretching of hands away from body decreases moment of inertia

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LedTeu(hHeuaTauBens LI,

FgBm (A): MeT0 LIS HMEVEHT DleUTH MBHM6T OleualiiBLOTS BLIQEIT60 @GhleVID
Gousld GHMBHBSI.

aryenid (R): enasemen o L aidb@ Oeuafiliypiors BUGLOUTSHI HleweoddhS(bLilsh  SHmest
GSOBBDI.

(A) v e sf (R) saum

(A) oppd (R) @yewigid il Cweid (R), (A) alBg gfwmer elendbsom@Lb.

(A) wppid (R) BrewiGd seupl

(A) oppib (R) @yemipo gl gpemed (R), (A) alBg gfilwrner alendasioeso

alenL  O5flwaisoensv

oo o

In kepler’s laws of planetary motion, law of period is
1

a.Ta= b. Taa’® c. T’ad® d. T’aad’ e. Answer not known
a

Garemeienn QuibssHLHBaeTer GalenT aldseilsd FBmIbsTeomsaear ald,

a. Tozi2 b. Taa’ c. T?’aa® d.T’cad’ e. el OFfwaiseneo
a

If we more from equator to pole, the value of acceleration due to gravity,

a. Increases b. Decreases c. Remains Constant

d. Becomes Zero e. Answer not known

BT Lelemwd Camiiedmbal HIHUILGHESGHF OFeoaudCuUTg I, LeluiTiy pHEHHEH5HH 6
G,

a. 91FHBMdbEH1D b. @emmpujb C. LOTMBTDEY B(HBESHLD
d. sfungib e. alewL GaMuieisdemev

Match the following:

Elevator Apparent weight

A. At rest 1. Greater than actual weight

B. Accelerating downwards 2. Equal to actual weight

C. Accelerating upwards 3. Weightlessness

D. Free fall 4. Lesser than actual weight
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A B C D

a. 2 3 4 1

b. 1 4 2 3

C. 2 1 4 3

d. 2 4 1 3 e. Answer not known

QUTHSHHIS.

&Te_WiTgg) GxpTBm eTeML

A. g@uia] Bleneouied 1. o eWiewD elemLedWl el DIFHHLD

B. #8106@pnéd (1pBEHSID 2. © _ewieHD CTMLSGHF FLOID

C. GwevB@phTohdul (LpHEHBLID 3. etewL_uflesTento

D. s1@er &6 aflpbGurg 4. 2 awienID 6TML MU Sl &G 6mMBe)
A B C D

a. 2 3 4 1

b. 1 4 2 3

C. 2 1 4 3

d. 2 4 1 3 e. alwL Gapfwalsdenso

139.  Consider the following:
Assertion (A): Gravitational force is a conservative force
Reason (R): Work done against the gravitational force is the same as

long as the initial and final position are the same
a. (A) alone is correct (R) is incorrect
b. (A) and (R) are correct and (R) is the correct explanation of (A)
c. (A) and (R) are incorrect
d. (A) and (R) are correct but (R) is not the correct explanation of (A)
e. Answer not known
LedTeu(mHeueTauBens LI,
gBm (A): yaluimiy elensFwnersl SLBBEL WOTBT alenFWITEGLD.
aryenid (R): umeng eeleurm @@pUN@ID OFHTL &S WLBEID BWIFH HeNeVEH6T LOTBTLOE
OmI@ euemy YaluiTiy elengsosgyne GFuiwiul’ L Geaemev LOTBIS
a.(A) wiew i R) seuml
b. (A) wipd (R) @rewied M Gwed (R), (A) alBeg aflwrer alendaom@l.
c. (A) wpgd (R) QgewiGn Heum
d. (A) oppid (R) Syewibo afl aemmed (R), (A) alBg sflwrer alendasiosen
e. alewL Gaflwealsvenso

140.  Match the following:

Material Specific heat capacity
A. Air 1. 450 Jkg1k1
B. Aluminium 2.4186 Jg k!
C. Iron 3.1005 Jkg k1
D. Water 4.900 Jkg k1
A B C D
a. 1 3 4 2
b. 1 4 3 2
C. 3 4 1 2
d. 3 1 4 2 e. Answer not known
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Quim(meit S Qeulill eMLIG I 6sT
A. syl 1. 450 Jkg1k1
B. sundefuib 2.4186 Jg k1
C. ®miy 3. 1005 Jkgtk1
D. mr 4.900 Jkg1k1
A B C D
a 1 3 4 2
b 1 4 3 2
C 3 4 1 2
d 3 1 4 2

e. alemL Gz fluwailsvenso

141.  Which of the following statements is/are correct?

L. Heat Radiations travel through Vaccum

II. Heat Radiation is a form of energy transfer by electromagnetic waves

a. I only b. I only c. Both I'and II

d. Neither I nor II e. Answer not known

eiteupld mBuiseiied Fhwmeig/ el 61&il/ 6Teneu?

L. Qeutingd sHTaIFSH CeuBpBiL G0 Lwenio@LD.

II. CauinsaFHTaisFs eaiLgl, STHSH DlmeudHerlenmed Geuliub LT BHShe DLEGLD.
a. [ @ b. IT o1 B c. Twoppp 11

d. GuomampPw egefcoemen €. el Gafuiaisdemnso

142.  Bursting of tyre is an example of,

a. Isothermal Process b. Isochoric Process c. Adiabatic Process
d. Isobaric Process e. Answer not known

LWT Oeugsh@d HHLDe).

a. QeulILpBlensy LOTBT HHLD6Y b. Lu@bweT WIBT Bsbey

. Geutir uflorBpiieoeor BHabey d. DIPSHSID WTBT HHLD6]
e. alewL G flwailsenso

143.  “No heat engine in the universe can have 100% efficiency” is a statement of,
a. Zeroth law of thermodynamics b. First law of thermodynamics
c. Second law of thermodynamics d. Third law of thermodynamics

e. Answer not known

100% LWIBIFBET CBTEWIL 6hdH @ Geulil SubATWD GUILITUEhFHHeO FTHEH WD
B60em60” GTGILIGI,

a. Qeui Guissalweder & allg b. Qo Quissalweder (WwHeomd aild

c. Gauin Quissalwedssr @rewiimd algh  d. Qeuin Buisselwede apaBTd afld)

e. alenL Oz flwailsvemnso

144.  SI unit of stress is

a. Tensor b. Pascal c. Nm1
d. No unit e. Answer not known

samsaler SI ol60E.

a. Qe b. umervase0 c. Nm

d. o0E @emen e, el O Muwalsenew
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145.

146.

147.

148.

Consider the following;:

Assertion (A): Steel is mostly preferred in the design of heavy duty machines
Reason (R): Young’s modulus of steel is less than aluminium, brass and copper

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LT&STeU(HoUGTOUBNDB  SUIS.

Bl (A): 6. SITH BUIHFHTEISMEN aIQaIMLIDSHSL LWETLGHSILBGS B
as1rewid(R):  oidleflwn, Ussemenr  wB@id  STOTSHmBIL 6L "Bl WIkIGHeISHLD
(G&HEMBEUTGLD

(A) o @B gfl (R) seum

(A) oppd (R) @yemipd gfl Guwed (R), (A) alBg gfiwmer alendsiom@Lb.

(A) wppid (R) BrewiGd seuml

(A) oppd (R) Byemid gfl gpemed (R), (A) alBg gilwmer alendaioeiseo

alenL  OFfluwalsvensv

oo o

According to Stoke’s law, the viscous force acting on a spherical body does not
directly depend on,

a. Radius of the sphere b. Gravity acting on the sphere

c. Velocity of the sphere d. Coefficient of viscosity of the liquid

e. Answer not known

oBLrd algluiery, GsmenliCummeller Wah OQFweOLBL uTdHwed alend eaemd ChrQuiTs
FTbHHI 160607

a. GamengHer SIID b. GamengHenn 18z Gawedupd yalufmiy eles

C. Gareng e HengBausid d. Hyeudden uTduied eremt

e. alewL Gaflwealsvenso

Which of the following is not an application of Bernoulli’s theorem?
a. Aero foil lift

b. Bunsen burner

c. Oil rise in earthern lamp

d. Blowing off roofs during wind storm

e. Answer not known

Lelteu(heueieuBmlen 61ghl GUTGeenedl CHmmaHdlen LwieuTh Djevev?
a. alloTen @BEHmd 2 WITSHEH60

b. ussiFeT S_yHLIY

C. enialendalevieien erenrGenius Hiflulled emieugi

d. GoysaTBIled aEmemysel s enfwiLBEHe

e. alewL O fluwailsenso

Identify the correctly matched pairs

I. Mechanical waves Ripples on water surface
I1. Non-Mechanical waves Sound waves

III. Transverse waves - Electromagnetic waves
a. I only b. I only c.Iand II only
d. I and III only e. Answer not known
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149.

150.

gflwre  QUTHHSHU6TEN EenenTHmend 6wl 15b.

L. BWhHT Slewev — Bifler UTLLTed o (HeuTG FBBeneLSH6i

I1. BB SRMWBB DN — 60l DIEEVEHET

II. @Bssmevssn - LOGIBTHS DIENEVDH6I

a.l w @G b. I @B c. [ opmip II o Bib
d. T wopmgid I w’ G e. alenL Gafwealsdemnso

Consider the following;:

Assertion (A): Loudness of explosion of balloon in a closed room is same
as in a noisy market
Reason (R): Two sound with same intensities have same loudness

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LedTeu(hHeuaTauBens LI,

&gBml (A): umeT @&ImI LUl iempulsd Geugd@d Gurgl gBUBLD © JLb FHoLome
Fhenpulled CeugdhGWUTH gBUBLD o FLLD FLoLb.

amyenid (R):98r Gampley Osmemi @b @6l cpeomiss 6T @6l o glmul GuBMHEBGLD.
a.(A) w e gfl (R) seum

b. (A) wipd (R) @rewi@d s Gwed (R), (A) alBeg aflwrer alendaom@ib.

c. (A) wppb (R) @reaiid sHeup)

d. (A) wppid (R) @rewid afl aemed (R), (A) alBg sflwrer alendsioeoe.

e. alewL Gaflwealsvenso

When the fingernail is placed against a two-way mirror,

a. There is a gap between nail and its image

b. Fingernail directly touches its image

c. Image appears magnified

d. Image will be same as in normal mirror

e. Answer not known

algeured BmHeuld Hewrenimgemuld QHTHLLOUTSHI,

alfsG SiFHe LbusbsIHBEG BB Bl Oeuel BmHaELD
alged Cryyuwires LNbusbmssdh CHTHLD

Mibud Quiiared Cameimid

FTHTyeniss Sewianimgenwil Gurainp LIbuSHms 2 (HeuTdh@Ld
allewL  OFflwealedensv

canoe
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aiflasHEe gmmsl, WHESEHSHES HaTadld uwaugl,
wassaflar Sipfleaveu auemMiTFAWeLWE aFIauNg eTZHIGeur
Siemslu ummiGu CGuasr.

Srbemss e rfluarrr
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